®)
M ZG

2-Jaw Hh p®ed dilow d&wer hGcks

>> Dimensions

‘0
o
OPT- 204,0PT- 205 OPT-206,208,210,212,215

>> Specifications

Order uMber MODEL Nose fOpiadle A B (hcs) D E El F G H H1 ! J K L
701100 SBL-204 - 110 | 59 85 o o o 4 o 70.6 - - 26 |4-M10x1.5P| --
701102 SBL- 205 Ax 4 135 | 60 | 110 | 63.513 20 o 4 96 82.6 PCD@118 |4- M8x1.25P| 33 |4-M10x1.5P| 15
701104 SBL- 206 A~ 5 169 81 | 140 | 82.563 15 o 5 116 104.8 PCD@145 |6- M10x1.5P| 45 |6-M10x1.5P| 16
701106 SBL-208 Ax 6(Axr 5) | 210 91 | 170 | 106.375 | 17 23 5 150 133.4 PCD@180 |6- M10x1.5P| 52 |6-M12x1.75P| 18
701108 SBL-210 A 8(Ar 6) | 254 | 100 | 220 | 139.719 | 18 28 5 190 171.4 PCD@225 |6-M12x1.75P| 75 | 6-M16x2P | 19
701110 SBL-212 A~ 8 304 | 110 | 220 | 139.719| 18 o 6 190 171.4 PCD@250 |6-M12x1.75P| 91 | 6- M16x2P | 25
701112 SBL-215 A~ 11(A~r8) | 381 | 133 | 300 | 196.869 | 22 33 6 260 235 PCD@324 |6- M12x1.75P|117.5|6- M20x2.5P| 28

MoDEL Mo | b | o2 | o | e [ dn | Q| R | ST u VoWl XY R | Sl
SBL- 204 14 23 |203|115| 6.7 | 3.5 | -6.5| 23 10 | 17.5 2 M32x1.5P 12 24 | 495 | -- 26 10
SBL- 205 14 | 26.2 | 235 | 19 6 1 -9 25 10 20 2 M40x1.5P 12 | 315 | 62 o 33 10
SBL- 206 20 |32.35|29.6 | 24 7 11 -1 31 12 19 2 M55x2P 20 37 73 - 45 12
SBL- 208 25 | 39.1|354 | 30 10 [ 145|-1.5| 35 14 | 20.5 2 M60x2P 30 39 95 (104.8 52 16
SBL-210 30 | 515 47.1| 34 12 8.5 |-10.5| 40 16 25 2 M85x2P 40 43 110 |133.4 75 19
SBL-212 30 |61.6 |56.3| 46 12 8 -15 50 21 28 2 M100x2P 50 51 | 129 o 91 23
SBL- 215 43 | 823 | 77 46 13 7 -16 | 62 22 | 42,5 5 M130x2P 48 66 | 165 |171.4| 117.5 23
e | BB | BRED | %e | wete | o, | 68 | e | SR | erce

SBL- 204 5.4 8000 920 9) (1930 19) 155 1.5) ( 3.6 SH1036 @7 @110

SBL- 205 5.4 7000 1120 11) 2340 23) 19 1.9) (65 SH1036 | @10 @435 8300
SBL- 206 5.5 6000 1420 14) 3770 37) 185 1.8) ( 13.1 SH1246 | D13 @169 9300
SBL- 208 7.4 5000 2240 22) 5710 56) 17 1.7) (23.0 SH1552 213 @210 10300
SBL- 210 8.8 4200 2850 28) 7440 73) 18 1.8) (35.9 SH1875 230 @254 14000
SBL- 212 10.6 3300 3670 36) 9690 95) 18 1.8) ( 56.6 SH2091 | @35 @304 19300
SBL- 215 10.6 2500 4790 47) 12130 119) 17 1.7) ( 103.2 SH2511 | @35 @381

Mol



| Hollow d&wer hQGcks

3-Jaw Hh p®ed dlow d&wer hGcks

>> Dimensions

>> Specifications

Order uhber MODEL Nose fOpigdle A B (hCS) D E El F G H L i 2 2 H3
701200 SB- 204 - 110 59 85 - - i 4 i 70.6 - - - - -
701202 SB- 205 A2-4 135 | 60 | 110 | 63.513 20 - 4| 96 | 82.6 | PCD@118 [ 3-M8x1.25P - -- -
701204 SB- 206 A2-5 169 81 140 | 82.563 15 - 5| 116 [104.8| PCD@145 | 6- M10x1.5P - - -
701206 SB- 208 A2-6(A2-5) | 210 91 170 | 106.375 17 23 5| 150 |133.4| PCD@180 | 6- M10x1.5P - .- -
701208 SB-210 A2-8(A2-6) | 254 | 100 | 220 | 139.719 18 28 5] 190 |171.4| PCD@225 (6-M12x1.75P - - -
701210 SB-212 A2-8 304 | 110 | 220 | 139.719 18 - 6| 190 |171.4| PCD@250 (6-M12x1.75P - - -
701202 SB-215 A2-11(A2-8) | 381 | 133 | 300 | 196.869 | 22 33 6| 260 | 235 -- -- PCD@230 |3-M12x1.75P| PCD@300
701204 SB- 218 A2- 11(A2-8) | 450 133 300 | 196.869 22 33 6| 260 235 | PCD@230 |3-M12x1.75P| PCD@300 |4- M10x1.75P| PCD@380
701206 SB-221 A2- 15(A2-11)| 530 | 140 | 380 | 285.775 | 27 41 6 [330.2|330.2| PCD@300 | 3-M16x2P | PCD@380 3-M16x2P | PCD@460
701208 SB- 224 A2- 20(A2-15)| 610 | 149 | 520 | 412.775| 27 42 6 (463.2|463.6| PCD@350 | 3-M16x2P | PCD@450 3-M16x2P | PCD@550

oL 13 J K L M | o M| | w |[mn [ QR[S |T| U V| w | x
SB- 204 e 26 | 3-M10x1.5P | -- 14 23 1203|115 | 6.7 35 | -65| 23 | 10 [17.5| 2 |M32x1.5P| 12 24 | 49.5
SB- 205 - 33 |3-M10x1.5P| 15 14 | 26.2 | 23.5| 19 6 1 -9 25 [ 10 | 20 | 2 |M40x1.5P| 12 [31.5| 62
SB- 206 - 45 | 6-M10x1.5P| 16 20 |32.35|29.6 | 24 7 11 -1 31|12 | 19 | 2 | M55x2P | 20 | 37 73
SB- 208 e 52 |6-M12x1.75P| 18 25 39.1 (354 30 10 | 145 | -1.5 | 35 | 14 |20.5| 2 | M60x2P | 30 | 39 95
SB- 210 b 75 6-M16x2P 19 30 | 51.5| 47.1| 34 12 8.5 |-10.5| 40 | 16 | 25 | 2 | M85x2P | 40 | 43 | 110
SB- 212 b 91 6-M16x2P 25 30 | 61.6 | 56.3 | 46 12 8 -15 50 | 21| 28 | 2 | M100x2P | 50 51 | 129
SB-215 |[3-M12x1.75P(117.5| 6-M20x2.5P | 28 43 | 823 | 77 46 13 7.5 -16 62 | 22 [42.5| 5 | M130x2P | 48 66 | 165
SB-218 [4-M10x1.75P| 120 | 6-M20x2.5P | 28 43 | 83.8 (785 | 78 18 7.5 -16 62 | 22 [42.5| 5 | M130x2P | 48 66 | 165
SB- 221 3-M16x2P | 180 | 6-M24x3P 33 60 [119.6|114.3| 63.3 | 21.3 | 10.5 | -13 65 | 25 [42.5| 5 | M195x2P | 80 |73.5| 180
SB- 224 3-M16x2P | 205 | 6-M24x3P 37 60 |134.4|/128.4| 87.3|21.3| 135 -11 65 | 25 [42.5| 5 | M220x3P | 80 |73.5| 180
Thru- Hole Plunger Max.Pull Max.Grippin : P
MODEL Y [D'("‘n']";;e’] S(g‘?%)e J[S%Ln:ﬁ?ﬁ ,%arﬁ(?nﬁﬁ? g) kg':mch) ( kg'fzoml%f\l) ’ ( kg%i%’g(ﬁj%a) W(ig)ht “ésltlcn%g? GRna’\)f?E;gg Price
SB-204| -- 26 10 5.4 8000 1428 14) (2850 28) 24 2.3) ( 3.8 SH1036 @7 @110
SB-205| -- 33 10 5.4 7000 1730 17) (3570 35) 29 2.8) I( 6.1 SH1036 |910 @435 8000
SB-206| -- 45 12 5.5 6000 2140 21) (5710 56) 28 27) |( 125 SH1246 (@13 @169 9000
SB-208|104.8 52 16 7.4 5000 3360 33) (8360 82) 26 2.5) I( 21.9 SH1552 |@13 @210 10000
SB-210(133.4 75 19 8.8 4200 4280 42) (11010 1@8) 27 2.6) ( 33.7 SH1875 |@30 @254 14000
SB-212| -- 91 23 10.6 3300 5500 54) (14380 141) 27 2.6) I( 55.3 SH2091 |@35 @304 19300
SB-215(171.4 117.5 23 10.6 2500 7140 70) (18250 179) 24.5 2.4) 106.8 SH2511 |@35 @381
SB-218|171.4 120 23 10.6 2000 7140 70) (18250 179) 24.5 2.4) 152 SH2511 |@40 @450
SB-221|| 235 180 23 10.6 1700 9080 89) (23760 233) 31.5 3.0 195.2 SH2816 |®115 @530
SB-224330.2 205 26 12 1400 9080 89) (23760 233) 31.5 3.0} 169.4 SH2816 P140 @610

T MO02



®
M ZG Lathe apts

4-Jaw Hh p®ed dilow d&wer hGcks

>> Dimensions

> > Specifications

Order uMber |  MODEL %%?ﬁméo A B (r?e) D E|E1L| F [ G H H1 I J K L
701300 SBS- 206 A2-5 169 81 140 | 82.563 | 15 | -~ 5 116 |104.8( PCD@145 4- M10x1.5P 45 | 4- M10x1.5P 16
701302 SBS- 208 A2- 6(A2-5) 210 91 170 | 106.375| 17 | 23 5 150 |133.4( PCD@180 4- M10x1.5P 52 [4-M12x1.75P 18
701304 SBS-210 A2- 8(A2- 6) 254 100 | 220 | 139.719| 18 | 28 5 190 |171.4| PCD@225 | 4- M12x1.75P 75 4- M16x2P 19
701306 SBS- 212 A2-8 304 | 110 | 220 | 139.719 | 18 | -~ 6 190 [171.4| PCD@250 | 4- M12x1.75P 91 4- M16x2P 25
701308 SBS-215 | A2-11(A2-8) | 381 | 133 | 300 | 196.869 | 22 | 33 6 260 | 235 | PCD@324 | 4-M12x1.75P |117.5| 4- M20x2.5P 28

MODEL M max. min. max. min max. min. Q R S T U \ W X Y .[rgi%‘;‘ﬁr%oeﬁ Psltrlrr:én?
SBS- 206 20 [32.35] 24 24 7 11 -1 31 12 19 2 M55x2P 20 37 73 - 45 12
SBS- 208 25 | 39.1] 30 30 10 | 145|-15| 35 14 | 20.5 2 M60x2P 30 39 95 (104.8 52 16
SBS- 210 30 | 51.5| 34 34 12 8.5 |-10.5| 40 16 25 2 M85x2P 40 43 110 |133.4 75 19
SBS- 212 30 | 61.6 | 46 46 12 8 -15 | 50 21 28 2 M100x2P 50 51 | 129 | -- 91 23
SBS- 215 43 | 82.3 | 46 46 13 75 | -15| 62 22 | 425 2 M130x2P 48 66 165 |171.4] 1175 23

\(]S‘i'\émg);? Max.Speed M':af)’(':?:” Max'.:(grr::peping Max. yd. Weight Matching | Gripping Price

ERIEL (mm) r.p.m(min- 1) kgf (KN) kgf (KN) kgf/cnlirzessure(Mpa) (kg) Cylinder Range
SBS- 206 5.5 4500 1630 (16) 4180 (16) 21 (2.1) 14.2 SH1246 |©22~0169 10600
SBS- 208 7.4 3600 2440 (24) 6010 (24) 19 (1.9) 24.5 SH1552 |325~@210 12000
SBS-210 8.8 3200 3160 (31) 8050 (31) 20 (2.0) 38.1 SH1875 |J228~@254 16000
SBS-212 10.6 2500 4080 (40) 10400 (40) 20 (2.0) 60..5 SH2091 |@35~@304 21600
SBS- 215 10.6 1800 5400 (53) 13600 (53) 19 (1.9) 1115 SH2511 |263~@381




| Hollow d&wer hQGcks

Large hfough dle -3aw tgh pRed oRver hGck
>> Dimensions
W
T
_ i
T .
Ll s
; =il l
b == —| U
;I;‘.: J'_,_I: H
e
= [
| 18 1 Tre
+ | I—— 3: :'&'::' z
: . 11
=7 e
LI Y et i
[ el | |
U | s dENK o
>> Specifications — { E—
C N[N | O Pl P
Order _uMber | MODEL iead® | A | B |(n6) = =] i J X M |max.| min.|max.| min. nax|min.| @ [R| S| T v
701500 SBB-206 | A2-5 |170| 81 |140| ©82.563 [20| 5 |PCD@122|52| 6-M10x1.5P | 20 [36.35/33.6|21.1| 9.1 -5.131(12| 23| 2 | M60x2P
701502 SBB-208 | A2-6 |215| 91 |170|©@106.375|22| 5 [PCD@150 |66 | 6-M12x1.75P | 25 |46.6(42.9(26.6|11.6 | 10 |-6.1|35|14|25| 2 [ M75x2P
701504 SBB-210 | A2-8 [256|100|220|@139.719 (28| 5 |PCD@180| 81| 6- M16x2P 30 [54.6(50.1|33.1|13.6 |8.5|-10.1 40|16 [ 25| 2 | M90x2P
Thru- Hol Pl Max.S d . Max. _rigpi 9 L
MODEL VoW X | Y| Blambten | swoke | el Mo Mesca® i MEe pei | Wegit Matching Girpping Price
(mm) (mm) (mm) (min- 1) kgf (KN) kgf KN kgflcm2  (Mpa) (kg) Cylinder Pange
SBB-206 | 20 |37.5| 73 [104.8) 52 12 5.5 6000 2200 (21.5)|5900 58 21 (2.1)] 12.3 SH1452S | @13~@170
SBB-208 | 30 [39.5| 80 [133.4] 66 16 7.4 5000 3400 (33) |8800 86 26 (2.5)| 21.7 SH1666S | @50~@215
SBB-210 | 40 | 43 | 110 [171.4[ 81 19 8.8 4200 (4300 (42) 11100 109 | 29 (2.8)| 33.6 SH1881S | @34~@254
Large hfough ot uPer hih daHow Rotary ydraulic y@Gnder
1.
2.
3.
>> Dimensions
g 8 4.1
et
i 1.Super hint &ightweight:
¥ 'l' i g = uped thin outer structure makes the weight
1 -" = # N ightér than the traditional rotary cylinders;
. ' ! . . . .
[ R e e T eamwhile, the compactness and miniaturization
I 5 owelr het ubden fo aghines.
| 2.Large hrd-hole i@meter:
) 1 With large open center,gripping range of Bar
stock can be increased.
3.Built-in  heck aWe:
41 ithwubt- in"check alwe",work igres an eb
ffeatively prevented from flying out during
>> Specifications brupt failure of pressure
order umber| wmopew |AL| Bl | C|ClD|E| EL |F F1 F2 G| G1 H | HL|J| 31 [K|Ki|Lafmd N |[N1| P |P1| Q ‘Ql ’Rl S| st |T|T1|U
701600 SH1452S | 9 |105.5|180| 30|165(140|M6x1P| 85| 12-M10x1.5P | 6-M8x1.25P |70 110.2|M60x2P|120|52| 83 |40|46|15|55| 73 | 85| 96 | 4 |101.8{M6x1P|7.3|137| PT1/2 |130| 4 |152
701602 SH1666S | 9 |116.5|209|35/|190[168M6x1P|95|12-M12x1.75P| 6-M10x1.5P (85| 121.2|M75x2P|145|66| 99 |40|46|15|70| 88 |100(111| 4 |116.8|M6x1P|7.3|161| PT1/2 [150| 5 |166
701604 SH1881S [10.7130.5(222| 35205168 M6x1P|110/12-M12x1.75P| 6-M10x1.5P [100| 136 |M90x2P|166|81(107.540(46|15|85/103|113(126| 4 |131.8/M6x1P|7.3|176| PT1/2 [175| 5 |186
\Y W Piston Max. . - |,GP2, | Piston Area(cm2) Max.Operating Force !
Ul ¢ w1 il X1 1Z|  Strok speed |Piston Dia (kg.m")(QilLeakageRate| max.Pressure Push Sidi pull side | Weight .
bl max.| min| max min Smng  |remBmind g mmo (umin)  kgffem20Mpay pygp sige pullside | kgf OKND kgf OKND 0 kgO L
SH14525 |183| 17 |-3| 45 [M58x1.5P | 25 |55.8(5 20 6500 145 0.035| 3.9 (40 03.97 135 124 |4860 (7.6) 4464 (43.7)| 12.3
SH1666S |211| 19 | -3 | 47 [M74x1.5P| 25 |71.8(5 22 5600 165 0.07 4 40 03.90 168 155 |6048(59.3) 5580 (54.7)| 17.4
SH1881S |226| 21 | .4 | 50 | M89x2P | 25 [85.8|5 25 4800 180 0.09 4.3 40 03.90 189 174 |6804(66.7) 6264 (61.4)| 21.9

 MO04



®
MZG Hollow ®&ary ydraulic yGnders

>> Dimensions

W
N
i)
] [= ]
7 "
| - i
EEEEEEE T 1a i Tk ALk
| 1 | |
- o 1 |
H
>> Specifications
Order uniber MODEL Al | B1 c ci1| b | b1|§ El F F1 F12 G| G1 H J || K | KL
701400 SH0928 9 109 120 25 100 - 80 |8-M5x0.8P| 60 |6-M8x1.25P i 45| 114 | M38x1.5P | 28 | 60 | 25 46 | 15
701402 SH1036 11 120 136 25 115 T 100 |6-M5x0.8P| 65 |6-M10x1.5P - 48 | 126 | M42x1.5P | 36 | 68 | 32 | 46 | 15
701404 SH1246 12 |126.5 155 30 130 - 100 | 6-M6x1P | 80 [12- M10x1.5P - 65| 134 | M55x2P 46 | 76 | 36 46 | 15
701406 SH1552 12 136 190 30 170 - 130 | 6-M6x1P | 85 |12- M10x1.5P i 70| 145 | M60x2P 52 |87.5| 36 46 | 15
701408 SH1875 17.5(154.5 215 35 190 - 160 6- M6x1P |125]|12- M10x1.5P o 95| 162 M85x2P 75 101| 36 46 15
701410 SH2091 21 168 240 35 215 - 180 6- M6x1P | 140 [12- M12x1.75P - 110( 183 | M100x2P 91 [110| 36 46 15
701412 SH2511 27 191 310 45 275 - 230 6- M6x1P | 166 | 12- M16x2P o 140 218 | M130x2P |117.5/135| 40 46 15
701414 SH2816 22 201 345 45 298 | 305 | 260 [6- M8x1.25P| - - [12-M12x1.75P|12- M16x2P|190| 229 | M175x3P |166.5(180| 50 60 | 15
wooe, | M [ ML N | NL[ P |PL]|Q Q1 Rif s [ s | 7 |Te| U |ut| Y lminlme | w1 | W | xt
SH0928 [34.6| 34 | 44 | 53 | 59 | 4 |64.8|4-M4x0.7P(PCD@76)| 5 | 95 | PT/4 | 105| 4 | 159 |1379.05|-0.95| 33.95 |M34x1.5P|23.95( 31.8
SH1036 |44.6| 38 | 55 | 64 | 73 | 6 | 80 |4-M5x0.8P(PCD@88)| 5 |105|PT3/8[115| 6 | 179 [154| 10 | -5 | 39 |M44x1.5P| 24 | 42
SH1246 [52.9| 50 | 64 | 76 | 85 | 4 | 90 |4-M5x0.8P(PCD@98)| 6 |116 |PT1/2|115| 6 | 184 |172| 10 | -5 | 40 |M52x1.5P| 25 | 50
SH1552 [59.6| 55 | 73 | 85 | 96 | 4 | 102 |4-Méx1P(PCD@110) | 7 |135|PT1/2[130| 6 | 196 [210| 17 | -5 | 47 |M58x1.5P| 25 | 56
SH1875 |84.6| 80 | 98 | 108 | 121 | 4 | 131 |4-M6x1P(PCD@155) [ 7 | 164 [PT1/2| 160 | 4 | 230 [235| 20 | -5 | 50 | M84x2P | 25 | 81
SH2091 [99.6| 95 | 108 | 120 | 138 | 4 | 147 |4-M6x1P(PCD®165) | 7 | 180 |PT1/2(185| 6 | 253 |260| 25 | -5 | 55 | M99x2P | 25 | 96
SH2511 (134.6| 125 | 148 | 160 | 178 | 5 | 184 |4-M6x1P(PCD®206) | 7 | 230 [PTL/2(210| 7 | 304 |302| 24 | -6 | 55 |M134x2P| 25 | 130
SH2816 | 185 |171.5| 210 | 224 | 244 | 5 | 250 |6- M6x1P(PCD@275) | 7 |316 |PT3/4262.5 -- | 308 | -- | 24 | -6 | 65 |M185x3P| 35 | 180
YEEEL z | BN | Max.Speed | Piston (kG.szZ) Leacl)(ltltge Max. s Max. perating ofce Weight .
(min) |"-p-m(min-1) Dia(mm)/ <3 ey | qpressure -l puch  push Push i Pull ids ko) Price
kgflcm2(Mpa) | Side  side kgf (KN) kgf (KN)
SH0928 5 10 8000 90 0.008 3.0 40 (3.9) 54 47.5 2000 (19.6) 1750 (17.2)
SH1036 5 15 8000 105 0.012 3.0 40 (3.9) 70 68 2500 (24.5) 2400 (23.5) 9.0 5600
SH1246 5 15 7000 125 0.019 3.0 40 (3.9) 100 89 3700 (36.2) 3200 (31.3) 11.9 6300
SH1552 5 22 6200 155 0.053 3.9 40 (3.9) 160 150 5900 (57.8) 5500 (53.9) 17.3 7300
SH1875 5 25 4700 180 0.096 4.2 40 (3.9) 198 183 7200 (70.5) 6700 (65.6) 26.4 8500
SH2091 | 5 30 3800 205 | 016 | 45 40 (39) | 252 235 9200 (90.1) 8600  (84.3) 37.1
SH2511 6 30 2800 250 0.5 7.0 40 (3.9) 348 336 12400 (121.5) 12000 (117.6) 63.0
SH2816 6 30 2000 280 3.5 8.4 40 (3.9) 346 332 12200 (119.6) 11800 (115.7) --

- MO5



atk oWver hQGcks

Pull a&k oWwer hQGcks
1
2.
3.
4.
>> Dimensions Pull adk edture facadial rigping ilveal ot
almost onosk igre plifting igplacement;
d . e CHANDOX uP ad&k oWer hGcks rea deal
| —-—|-~—¢E | for achining asting nd orging apts;
e It
‘_ﬁ_.'] = 1.By ppressing he rigped osk igre othe
: | L[ .;E["_u | urface, CHANDOX UM adk oWer hGcks
= |"" = I Pl re aigable of edvy avhining.
I ' Y & 2 2.Chuck ctuators it ykndrical triscture re
|. : oy urablle nd neures igh rigping epeatability.
= = s 3.Accurate eH-centering nd uf adk edtures
o= LB
- o
Ll -;----7!7'?'30" "\ re alaquate orf reeise erigth oaotrol
e ‘i‘\ ; achining equirements.
Y | I L 4.0Optional omponents ano ebekcted orf
E L\_ etedting he ight ogition no na utomated
g BT oading auhine.
>> Specifications
G G J J
Order uhiber MODEL o B C D E F max. min. H max. min.
701700 SPL- 06 169 83 140 82.563 15 5 15 5 70 46 36
701702 SPL- 08 210 97 170 106.375 17 5 16.5 6.5 84 57 47
701704 SPL- 10 254 110 220 139.719 18 5 22 6 100 68 52
701706 SPL- 12 304 125 220 139.719 18 5 21.5 5.5 120 72.5 56.5
N N P P
MODEL : < L . max. min. max. min. Q R
SPL- 06 6- M10x1.5P 14 104.8 56.65 54 33 23 35 32
SPL- 08 26 6- M12x1.75P 17 133.4 69.65 67 38 28 40 38
SPL- 10 32 6- M16x2P 24 171.4 87.8 82 48 32 50 50
SPL- 12 36 6- M16x2P 20 171.4 102.8 97 47 31 60 52
VEBEL S u Plunger trBke Jaw tBke Max.Speed Max.Pull Force
(mm) [Diameter](mm) r.p.m(min- 1) kgf 0O KNDO
SPL- 06 36 M16x2P 10 5.3 3500 1326 0130
SPL- 08 36 M20x2.5P 10 5.3 3000 2142 0210
SPL- 10 46 M24x3P 16 11.6 2500 3060 1300
SPL-12 50 M27x3P 16 11.6 2000 4386 0430
Max. ri@ping N
Max. y¢H. ; . Girpping .
MODEL Force Weight Matching
kgf KN kgf/cm? (Mpa) (kg) Cylinder Pange Price
SPL- 06 2958 0290 22 .2 13.8 2 J- Y1020 ?35~3160
SPL- 08 4896 0480 22 2 27.8 2 J- Y1225 240~3210
SPL- 10 4998 b 490 30 .9 45.9 2 J- Y1225 @50~@254
SPL-12 7242 0710 30 9 75.7 2 J- Y1530 ?50~@304

 MO06



®)
M ZG

2-JAW 68lid omver hQGcks

>> Dimensions

R o

>> Specifications

©
Order _uhtber MODEL Sormaie® A B (h6) D E E1l F G H J
702100 JNL- 06 A2-5 165 74 140 82.563 15 - 5 116 104.8 21
702102 JNL- 08 A2- 6(A2-5) 210 85 170 106.375 17 23 5 150 133.4 25
702104 JNL- 10 A2- 8(A2- 6) 254 89 220 139.719 18 28 5 190 171.4 34
702106 INL-12 A2-8 304 106 220 | 139.719 | 18 - 6 190 171.4 34
N N (©) (@) P P
MODEL < L M max. min. max. min. max. min. Q % €
JNL- 06 6- M10x1.5P 14 20 37.8 33.25 15.1 9.1 101.5 | 81.5 31 12 36
JNL-08 6- M12x1.75P 18 25 46.3 41.9 22.1 10.1 127 106 35 14 36
JNL- 10 6- M16x2P 25 30 51.4 a7 30.6 9.6 158 133 40 16 36
JNL- 12 6- M16x2P 25 30 60.7 55.45 48.6 12.6 163 133 50 18 36
MODEL T u v w X Y Plunger tr8ke Jaw tBke Max.Speed
(mm) [Diameter](mm) | r.p.m(min- 1)
JNL- 06 4 M16x2P 34 39 73 - - 20 8.5 5000
JNL-08 5 M20x2.5P 38 42 95 104.8 21 8.8 4000
JNL- 10 5 M20x2.5P 45 46 110 133.4 25 8.8 3500
JNL-12 5 M20x2.5P 50 54 129 - - 30 10.5 3000
Max. ullP Max. ri@ping .
MODEL Force Force Max. ydt. Weight Matching Girpping Price
kgf (KN) kgf KN kgf/cm2 (Mpa) (kg) Cylinder Pange

JNL- 06 1220 (12) 3460 (34) 17 (1.7) 11.1 | J-Y1020(JL1020R) | @9~@165 8300
JNL-08 1630 (16) 4990 (49) 16 (1.6) 21.3 J-Y1225(JL1225R) | @12~@210 9000
JNL-10 1930 (19) 7140 (70) 19 (1.9) 32.6 J-Y1225(JL1225R) | @15~@254 12000
JNL-12 2750 27) 10300 (101) 20 (2.0) 57.0 J- Y1530(JL1530R) | @20~@304 17300

BEMo7



| Solid oWwer hQGcks

3-JAW 8lid ower hGcks

>> Dimensions

Q
e ol I
ey gl ! @ ™, L
o (™ - 4T I
Wi' r @ 6| e T\T SEF"II{: ;‘.@l :@.:u Y '\T 'g:
[ L) ! ) d 1 i % P
[ S— Y i 7w e g
15 ot 4L 8 15] & - A | =F = —
| 1 N | i Sy <l 1% s
AR e % -1 FeEEs=
11 b { | o R |
30, \@;u I ?w/ o s b n'”-”?"w:!'.?:;’l Jaar il
gl N MIOms Y R %
% ’ - -J— ) r—.
- L] I F
15 18 15 15 LB |
_.Fil cL-15,188
™
>> Specifications
C
Order uhiber MODEL 'ég?:dlefo A B (h6) D E E1l [F G H J K L M
702200 JN- 05 A2-4 135 55 80 63.513 - - .- 7 - - 100 - 3- M8x1.25P 14 14
702202 JN- 06 A2-5 165 74 140 82.563 15 i 5 116 | 104.8 21 6- M10x1.5P 14 20
702204 JN- 08 A2-6(A2-5) | 210 85 170 106.375 17 23 5 150 | 133.4| 25 |6-M12x1.75P| 18 25
702206 JN- 10 A2-8(A2-6) | 254 89 220 139.719 18 28 5 190 | 171.4 34 6- M16x2P 25 30
702208 JN-12 A2-8 304 106 220 139.719 18 - - 6 190 | 171.4 34 6- M16x2P 25 30
702210 JN-15 A2-11 381 114 300 196.869 22 - - 6 260 235 - 6- M20x2.5P 32 43
702212 JN-18 A2-11 450 114 300 196.869 22 i 6 260 235 - 6- M20x2.5P 32 43
N N (0] (0] P P
MODEL 1RX. min. 1AX. min. max. min. Q 5 S I v v L - v
JN- 05 30.4 27.2 17.1 9.6 9 -6 25 10 35 2 M12x1.75P 28 31 62 -
JN- 06 37.8 | 33.25| 15.1 9.1 101.5 | 81.5 31 12 36 4 M16x2P 34 39 73 -
JN-08 46.3 | 41.9 22.1 10.1 127 106 35 14 36 5 M20x2.5P 38 42 95 |104.8
JN-10 51.4 47 30.6 9.6 158 133 40 16 36 5 M20x2.5P 45 46 110 (133.4
JN-12 60.7 | 55.45| 48.6 12.6 163 133 50 18 36 5 M20x2.5P 50 54 129 -
JN- 15 69.05 | 60.97 | 58.05 | 40.05 104 69 62 25.5 55 7 M30x3.5P 60 68 165 | --
JN-18 99.46 | 91.38 | 58.05 | 40.05 92 57 62 25.5 55 7 M30x3.5P 60 68 165 | --
MODEL P'""(g;'m')'ﬁke J[B%m'ﬁ?ekr? rhgaré m”if‘f) :g?x' ue (O}ZE;I? k'\gaf‘/xc.m;mpre(sl\:::) hl:;:/.crz?ﬁ?l;s::) V\/(?(ig)ht Matching y@nder | Gripping aRge Price
JN-05 15 6.4 5500 800 (7.8) 25 (2.5) 25 (2.5) 6 J- Y0815 ?8~@135 7400
JN- 06 20 8.5 5000 1730 17) 25 (2.5) 25 (2.5) 11.4 | 3-Y1020(JL1020R) | @18~@165 8000
JN- 08 21 8.8 4600 2440 (24) 25 (2.5) 25 (2.5) 21.9 | J-Y1225(JL1225R) | @12~@210 9000
JN- 10 25 8.8 4000 2850 (28) 29 (2.8) 29 (2.8) | 33.4 | 9-Y1225(JL1225R) | @16~@254 | 12600
JN-12 30 10.5 3200 4080 (40) 29 (2.8) 29 (2.8) 58.5 | J-Y1530(JL1530R) | @18~@304 17300
JN- 15 35 16 3000 8260 (81) 32 (3.1) 32 (3.1) | 100.6 | J- Y2035(JL2035R) | B68~381
JN-18 35 16 2700 8260 (81) 32 (3.1) 32 (3.1) | 134.3 | J-Y2035(JL2035R) (F100~@450

- M08



®
M ZG Lathe apts

Solid oRary ydraulic yGnder

>> Dimensions

[:3
M 5
M
T amE i
BATE
;.-|_ L i |
—CLre]s[ufefe
- - 2|
‘—_tﬁ"\
R . -._‘E
> > Specifications
S (e MODEL A B c D E(h7) F G(H8) H J K L
702300 J- Y0815 75 15 115 90 65 30 21 M20x2.5P 35 137 72
702302 J- Y1020 105 20 135 100 80 30 21 M20x2.5P 35 155 72
702304 J- Y1225 125 25 160 130 110 35 25 M24x3P 45 163 72
702306 J- Y1530 150 30 190 130 110 45 31 M30x3.5P 45 173 72
702308 J- Y2035 200 35 245 145 120 55 37 M36x4P 60 191.5 72
M N P P Q R Piston Stroke Max.Speed
MODEL max. min BTl -opee
r.p.m.0 mind
J- Y0815 65 97 46 31 6- M8x1.25P 102 15 6000
J-Y1020 83 115 45 25 6- M10x1.5P 120 20 5500
J-Y1225 91 123 51 26 6- M12x1.75P 128 25 5500
J-Y1530 101 133 56 26 12- M12x1.75P 138 30 4000
J-Y2035 119.5 151.5 69 34 12- M16x2P 156.5 35 4000
(kGDZZ) QilLeakage Rate Max.Pressure Piston Area(cm2) Max.Operating Force Weight -
MODEL .m p > rice
9 (6/min) kgflcm2 ~ MpaD bush Side Pull Side kgf  OKND O kgl
J- Y0815 0.01 0.8 40 (3.9) 43.5 36.5 1600 (15.7) 4.2 1850
J- Y1020 0.04 0.8 40 (3.9) 85.5 78.5 3200  (31.4) 5.9 2150
J- Y1225 0.09 0.8 40 (3.9) 121.5 112 4600 (43.7) 8.1 2500
J- Y1530 0.19 0.8 40 (3.9) 175.5 159.5 6500  (63.7) 11.9 2500
J- Y2035 0.39 0.8 40 (3.9) 312.5 288.5 11800 (115.6) 21.4 3300




oRary yidraulic y@Gnder

Solid oRary wydraulic yGnder
Built-in héck aWwe

>> Dimensions

1.Super hin trsicture:
A | Super hi uter trscture educes he

B3N interference itk aohines nd owers he
| burden fo aghines
1 | 2.Built-in h@ck aWe:
—-—1r2 %Y TR . - . .
e - 1 With ubt-in"check ale",work igtes an eb
ZH effectively revented rofm Iyffing ub uring baupt

failure foregsure.

>> Specifications

Order uniber| MODEL & B ¢ P ) Fol o H ’ « -
702400 JL1020R 105 20 135 100 80 30 21 M20x2.5P 35 172 86
702402 JL1225R 125 25 160 130 110 35 25 M24x3P 45 180 86
702404 JL1530R 150 30 190 130 110 45 31 M30x3.5P 45 189 84
702406 JL2035R 200 35 245 145 120 55 37 M36x4P 60 206.5 83

WEBEL M N 7 P Q R Piston t®ke Max. p&ed
max. min. (mm) r.p.m(min- 1)
JL1020R 86 132 45 25 6- M10x1.5P 137 20 6000
JL1225R 94 140 51 26 6- M12x1.75P 145 25 6000
U1530R 105 149 56 26 12- M12x1.75P 154 30 5500
L20B5R 123.5 166.5 69 34 12- M16x2P 171.5 35 5500
o (kgPrr?Z) Oil edkage de Max.Pressure Piston réa(cm2) Max.Push oFce Wkeiht orice
{min) kgffem2 — (Mpa)  |pysh i@  Pull ids kgf (Kn) o
JL1020R 0.013 0.8 40 (3.9) 86 79 3200 (31.4) 6.6
JL1225R 0.023 0.8 40 (3.9) 122 113 4600 (45.1) 8.8
JL1530R 0.048 0.8 40 (3.9) 176 160 6500 (63.7) 12.8
JL2035R 0.098 0.8 40 (3.9) 314 290 11800 (115.6) 22.5

‘ M10



Ve

Lathe apts

2ACTUATING AES BEVF-CENTERING

SOLID IR HMUCK I|IKTURES
X.Y
3
1.
2.
3.
X.Y

2 actuating axes self- centering solid air chuck fixtures
is great for machining center. Two pairs of jaws clamp
one after another to assure a workpiece to be locked
completely.
1.Rust- proof for Pneumatic Cylinder:
! Inside wall of cylinder being rustproof treated;
cylinder can work under wet or high moisture
ciroumstances without rusty or seized trouble.
2.Dusts- proof and Waterproot:
Dust- proof and Waterproof structure prevents

>> Dimensions

o o
[= o
work- chips and coolant water from entering into
inside of chuck cylinder to maintain its accuracy
and lead to longer service life.
= ! e 3.4- jaw Clamping and Self- centering:
iB [ i) 4- jaw clamping are steadier for machining. Two

E pairs of jaws are moved independently to assure

>> Operation Example re T
— ) ,
= L '® .a '
Speed, Accurate, Automatic Mt | Ln.l sl
- b = a9 ;| o9
. YA . " Y
-y . o .
. . = 8 . . 4' "
- 1 o
4- jaws clamping and self- center ’ . # s L i
>> Specifications (A )Piston"A"Ciamping (B )Piston"B"Ciamping
Order _uhiber MODEL A B D E F G H I J K L M N
703100 IJMA- 06 224 175 20 130 170 40 73 20 12 31 18 11 0202
703102 IMA- 08 265 210 22 154 196 42 95 25 14 35 18 1 0243
703104 IMA- 10 315 250 25 176 222 46 110 30 16 40 18 13 0285
A Piston Area(cm2)
MODEL o P Q _ _
Push Side Pull Side
JMA- 06 M10x 1.5P(PCD ©202) 4- M8x 1.25P(PCD @124) 4- M8x 1.25P(PCD 0156) 127 108
JMA- 08 M10x 1.5P(PCD @243) 4- M10x 1.5P(PCD @140) 4-M10x 1.5P(PCD @186) 184 157
JMA-10 M12x 1.75P(PCD @285) 4- M10x 1.5P(PCD @176) 4- M10x 1.5P(PCD 0224) 270 239
B Piston Area(cm2) o '
MODEL Plunger tréke | Jaw tske R Weight Girpping -
Push Side Pull Side (mm) [Diameterl(mm) | o (KN) OkgO Pange
IMA- 06 122 117 12 5.5 4500 (44) 24.8 025-@175
JMA- 08 176 169 16 7.4 6400 (63) 41.3 030~2210
IMA- 10 254 241 19 8.8 95 (93) 65.6 035-2250

v 11



| Pneumatic hack

2/3-JAW Hllow d@&wer hGck iRures

with ubt-in ypge yknder,it s ddal orf
. . machining palication no osking alile.
>> Dimensions 1.Rust- proof orf ylnder
&ing ustproof reated;
ylinder am osk nder et r dgh oisture
ircuemstances itlout usty roeiged rowble.
2.Dusts- proof na aterproof
structure revents
orkwchips nd oolant ater rofm reering nto
nside fohwck yknder o t amtain tsi cauracy
na edd otoriger erwice ifd.
3.Benefit f ouilt-in y@Gnder:
he Tykinder s iopnected othack tself irectly
or btaining ebter tadbility,less pace,and idgher
aclmining ffeciency

>> Operation xBmple

/
Examples fottéching
Pneumatic aviual
Switch/Optional cdessories

Adherent ype ahd ootrol alve

O (T MODEL A B | C|D| E |F|G|H/|I[J]K]|L M N o P R | S
703200 JMOT-04 | 155 | 115 -- | 15| 77.5 |103.5( 26 | 49.5| 14| 10| 23 | 13 | @9(PCD@135) [PT1/8| M8x1.25P 64 | 47
703202 JMOT-05 | 185 | 135 -- | 15| 95 |[128| 33 | 62 | 14| 10| 25 | 13 | D9(PCD@165) |PT1/4| M8x1.25P | 3- M8x1.25P(PCD@100) | 80 | 47
703204 JMOT-06 | 224 | 169 25 | 16| 118 |[158| 40 | 73 |20 | 12| 31 | 18 |Z11(PCD@202) [PT1/4| M10x1.5P | 3- M8x1.25P(PCD@134) | 80 | 47
703206 JMOT-08 | 265 [ 210 30 | 20| 138 [180| 42 95 | 25|14 | 35 | 18 (@11(PCD@243) [PT1/4| M10x1.5P | 3- M10x1.5P(PCD@136) | 80 | 47
703208 JMOT-10 | 315 | 254 52 | 23| 150 [196| 46 | 110 | 30 | 16 | 40 | 18 |D13(PCD@285) [PT1/4| M12x1.75P | 3- M12x1.75P(PCD@170) | 80 | 47

. — Max. ydt. Gripping oFce
Piston [Plunger Jaw teke Max.Gripping Rress&lre Atmi)rAgré%sre Weight Grippi
MODEL Q Area Stoke : Rorce el9 rlpping
(cm2) (mm) (Du(ame;er) 7kgflcm2(0.7Mpa) (kg) Range Price
mm
kgf (KN) |kgflcm2 (Mpa)| kgf (KN)

JMOT- 04 - 57 9 3.8 1900 (18.6) 12 (1.2) | 1100 (10.8) 6.9 29~0115

JMOT- 05 - 74 10 5.4 2620 (25.6) 16 (1.6) | 1300 (12.7) 11.2 @12~3135

JMOT- 06 - 97 12 5.5 4030 (39.5) 16 (1.6) | 2000 (19.6) 21.0 215~2169

JMOT-08 3- M10x1.5P(PCD@186) 156 16 7.4 6480 (63.5) 16 (1.6) | 3300 (32.3) 36.8 @20~@2210

JMOT-10 | 3-M12x1.75P(PCD@230) 235 19 8.8 9760 (95.6) 16 (1.6) | 4800 (47.0) 56.4 @33~@254

>>3- JAW Specifications

T EnEL A B |[C|D| E |F |G| H|I[J]|]K]|L M N o P R[S
703300 JMO-04 | 157 | 115 | -- [15|77 5|104| 26 |49.5| 14 | 10| 23 | 13 | 9(PCD@135) |PT1/8| M8x1.25P 64 | 47
703302 JMO-05 | 185 | 135 | -- |15 95 128 33 62 | 14| 10| 25 | 13 | 99(PCD@165) |PT1/4| M8x1.25P | 3- M8x1.25P(PCDZ100) | 80 | 47
703304 JMO-06 | 224 | 169 25 | 16| 118 | 158| 40 | 73 | 20| 12| 31 | 18 |@11(PCDY202) |PT1/4| M10x1.5P | 3- M8x1.25P(PCD@134) | 80 | 47
703306 JMO-08 | 265 | 210 30 | 20| 138 |180| 42 | 95 | 25| 14| 35 | 18 [@11(PCD@243) |PT1/4| M10x1.5P | 3- M10x1.5P(PCD@136) | 80 | 47
703308 JMO-10 | 315 | 254 52 | 23| 150 | 196 | 46 | 110 | 30 | 16 | 40 | 18 |@13(PCD@285) |PT1/4| M12x1.75P |3- M12x1.75P(PCD@170) | 80 | 47
703310 JMO-12 | 375 | 304 80 (23| 165 [219| 54 | 129 (30| 21| 50 | 18 (F17(PCD@340) |PT3/8] M16x2P [3-M12x1.75P(PCD@200) | 80 | 55

. P Max. ydf. Gripping oFce
MODEL Q PA‘?};%” Péutglg(;gr Jaw tBke MaxéGrIPPIng Rressire Atp‘i)rA%@sre Weight e
(cm2) ) (Di?me;er) @reE 7kgflcm2(0.7Mpa) (kg) Range Price
mm
kgf (KN) |[kgflcm2 (Mpa)| kgf (KN)

JMO- 04 T 57 9 3.8 2400 (23.5) 15 (1.5) | 1100 (10.8) 7.05 29~0115
JMO- 05 - 74 10 5.4 3285 (32.2) | 20 (2.0) | 1300 (12.7) 11.2 @12~@135

JMO- 06 o 97 12 5.5 5040 (49.4) 20 (2.0) | 2000 (19.6) 21.0 215~2169

JMO-08 | 3-M10x1.5P(PCD@186) 156 16 7.4 8100 (79.4) | 20 (2.0) | 3300 (32.3) 36.8 @20~3210

JMO- 10 3- M12x1.75P(PCD@230) 235 19 8.8 12210 (119.7) | 20 (2.0) | 4800 (47.0) 56.4 ?33~@254
IJMO-12 | 3-M12x1.75P(PCD@260) 292 23 10.6 14500 (142.1)| 20 (2.0) | 5100 (50.0) 88.5 @40~3304

T M12



MZG

Lathe apts

2-JAW BPER RECISION IR HUCK I[IKTURES

1.
2.
3.
4.
u
>> Dimensions
ATiE ST
STFEALTCH W i 2371
o H #TFHy Brapny  1.Pre- machined tapped holes and lubrication path:
E IJE D;.;—:HF;\:: 4 There are tapped holes for fixing jigs, thus, additional screw machining is

not necessary, and pre- machined lubrications path can connect to
auto- lubrication unit to lubricate the chuck automatically.

2.Built- in Cylinder:

Connect cylinder directly to the chuck for stable gripping.

3.Precise soft jaw positioning:

It's easy to remount soft jaw to the correct position with dowel pins onit.
4.High gripping precision brings better quality and efficiency.

Good coaxiality and repeatability of gripping are able to achieve the
accuracy of  glegree machining processes can be simplified or

HA

= [P L. shortened to make high precision machining with high efficiency come true.
MTH-0ET 5! MTHE-04T &
>> Specifications
Order uMber MODEL A B c D |d(h7) E F H w L L Wi M2 &S
703400 IJMTKL-04T|146| 17 |20.75|101.6| 18 [12.7|12.7| 80 | 16 | 13 |O09(PCD @130)|6- M5x 0.8P(PCD @&88.9) | 4- M5x 0.8P | 6-@3.18
703402 JMTKL- 06T |200| 18 |39.75|152.4| 26 |12.7|12.7| 81 | 22 | 18 |@11(PCD @180) |6- M6x 1P(PCD @135.89)| 8- M5x 0.8P| 6-@3.18
T.R | Jaw teoke G”P.Pi"% oFce | .
MODEL Diameter ih At irA 7kgf/cm® | Weight Price
Jaw .TR| ( ) |Repeatabilit
N T1 ) p y Pria?re (Okz(%ga) (kg)
JMTKL- 04T | 3- M8x 1.25P |2- M5x 0.8P(PCDO70)| 0,001 3 0.001 310 (3.1) 6
JMTKL- 06T | 4- M10x 1.5P | 2- M6x 1P(PCDO110)| ( go1 3 0.001 790 (7.8) | 12.6

3-JAW BPER RECISION IR HUCK

>> Dimensions

i 2ATI4 =TiE LETid
SRR F..‘Eﬂ:i'.;*u" Sugpily ok | I-l_jI!E._:-“dd-
o e | Fart Far G 0 il I | Eupply Fad

i Fir Grip Uigk:)

IKTURES

P
A % W

g
Eg Splittype hand control valve ;
£ PR "
3 ‘-'I,-__; This product reaches the repeatability of” y degree”
LoelTE ¥
| s '| z ot 1 >> Operation xBmple
4 o '_.'--'._
N : EF i !
= T—' ;.-. Examples of Attaching Pneumatic Manual Switch
MEHCDE M /Optional Accessories
Order uMber MODEL A |B c D |d(h7)| E F Hiw]|lL M M1 M2 M3 N
703500 JMTK- 04T [148(17(20.75|101.6| 18 |12.7|12.7| 80 | 16 | 13 | O09(PCD @130) | 6- M5x 0.8P(PCD @88.9) | 6- M5x 0.8P |9-@3.18|3- M8x 1.25P
703502 JMTK-06T [200|18(39.75|152.4| 26 |12.7|12.7| 81 | 22 | 18 | P11(PCD @180) |6- M6x 1P(PCD @135.89)| 12- M5x 0.8P |9-@3.18|4- M10x 1.5P
I.R Gripping oFce )
T3 Jaw tBoke i At irA 7kgflcm® [Weight|
MODEL ; Repeatabilit Blcs
T1 T2 Jaw .TR|(piameter) mifn)|~cP Y Heen e | ()
JMTK- 04T | 3- M5x 0.8P(PCD088.9) 0.001 3 0.001 310 (3.1) | 6.2
JMTK- 06T |3-M6x 1P(PCD0O135.89)|3- M6x 1P(PCD0O110)|3- M6x 1P(PCDO135.89)| 0.001 3 0.001 790 (7.8) | 13

B3



| Pneumatic hack

>> Operation xBmple

2.
)
. e

>> Dimensions

=]
in

-l
[=]
|2
I
5
74
ol
el

1.Pre- machined tapped holes and lubrication path:
There are tapped holes for fixing jigs, thus, additional screw machining

is not necessary, and pre- machined lubrications path can connect to

auto- lubrication unit to lubricate the chuck automatically.

2.Built- in Cylinder:

Connect cylinder directly to the chuck for stable gripping.

3.Precise soft jaw positioning:

It's easy to remount soft jaw to the correct position with dowel pins on it.
4.High gripping precision brings better quality and efficiency.

Good coaxiality and repeatability of gripping are able to achieve the
accuracy of giegree machining processes can be simplified or
shortened to make high precision machining with high efficiency come true.

(au) o
|
|
|
i
@ |
T E I__L" u

A e midde of [as sTase

h -

>> Specifications

T YEREL A B C D E D1 |d Hf)| D2 H h M1 M2
703600 JTKL- 04T |20.75| 12.7 | 12.7 |101.6| 30 |82.55| 18 25 70.3 | 3.2 6- M5x 0.8P(PCD @88.9) | 4- M5x 0.8P
703602 JTKL- 06T | 39.75| 12.7 | 12.7 |152.4| 40 |124.97| 26 345 | 70.3 3.2 6- M6x 1P(PCD @135.89) | 8- M5x 0.8P
703604 JTKL- 08T |65.75| 25.4 | - [203.2| 45 [167.64/ 50 50 | 99.5 | 7.0 |[6-M10x 1.5P(PCD 2182.88)4- M10x 1.5P
K Gripping oFce .
Jaw t&ke - At irA T7kgflcm’| Max. p&e Weight _
ROBES T.R ; Repeatability | p (0.7Mpa) o Price
M3 |w T1 Jaw " Tr|(Diameter) min) kot e Cgeny | PN | (ko)
JTKL- 04T | 6-93.18 16| 2- M5x 0.8P(PCDO70) 0.001 3 0.001 310 (3.1) 3500 4.2
JTKL- 06T |6-23.18 22| 2-M6x 1P(PCDO110) | 0.001 3 0.001 790 (7.8) 3500 9.5
JTKL- 08T | 4-26.36 | 25|2- M8x 1.25P(PCD0O150)| 0.001 3 0.001 1450 (14.3) 3000 25.1

3-JAW BPER RECISION IR HUCK

>> Dimensions

>> QOperation xBmple

- H -
i LY
(53 | B
= I
] |
'___J
P L] T
- %
Wor
g fes =,
i
| Tio
g
dE
Bg
(-
= This product reaches the repeatability of” u degree”
order uniber MODEL A B|C| D |E| DI |[dHP|D2| H |h|W M1 M2 M3 T1
703700 JTK- 04T |20.75|12.7[12.7|101.6/ 30 | 82.55 | 18 | 25 [70.3|3.2| 16| 6-M5x 0.8P(PCD@88.9) | 4- M5x 0.8P |6-23.18| 3- M5x 0.8P(PCD088.9)
703702 JTK-06T |39.75(12.7(12.7|152.4| 40 | 124.97| 26 |[34.5[70.3|3.2| 22| 6-Méx 1P(PCD ©135.89) | 8- M5x 0.8P |6-23.18|3- M6x 1P(PCD0135.89)
703704 JTK-08T |65.75(25.4| - [203.2]| 45|167.64| 50 | 50 |99.5|7.0| 25 [6- M10x 1.5P(PCD ©182.88) 4- M10x 1.5P|4-@6.36(3 - M8 x 1 . 2 5(A(8RC|B 8 )
T2 T3 R1| 2R 3R TR Gripping_ ofce o
o J tBoki HE At irA 7kgf/cm’ Max. i
MODEL Jaw .TR (S‘ilgmeter? Repeatability Pretssl:e (OgMcpn;) r.p.m(nF])in") W(ilg)ht Price
(mm) kgf (KN)
ITK- 04T 073 0.001 3 0.001 310 (3.1) 4500 4.4
JTK- 06T 3-M6x 1P(PCDO110) |3-M6x 1P(PCDO135.89)| 0 0] 54 0.001 3 0.001 790  (7.8) 4500 9.8
JTK-08T |3-M8x 1.25P(PCDO150) | 3- M8x 1.25P(PCDO150)| 03 09 093 0.001 3 0.001 1450 (14.3) 4000 26.3

T M14



®
M ZG Pneumatic hack

Operation Example for rotary table

3-JAW MR HUCK IKTURES ﬁm

-

>>Dimensions

(Y
al
1

Li¥E
L Deigli Doad-g
>> Specifications
AlelclplEe F e | 1 |1]g]K|Piston Area Plunger | 5oy (ske irtip?rizgnffc/im? Max.Speed |  Gripping | Weight )
Order Number | MODEL (cm?) S(tr:n?rl:; [Dl(ar:\r:;er] Pri;?re (o.(m‘,):a) rp-m(min-1)| “ponoe ko) Price
703800 | JIMR-04 |117/60(20/3.5| 74 |100.7(26.7/49.5/14/10| 23 57 9 3.8 |1100 (10.8) 3000 010~0117| 5.7 | JMR-04
3-JAW MR HUCK I[IXKTUES WLIT-IN 2YL®BIGERS
Aleslclplel e G | 1 lilalk|Piston Area Pslfn?(e' iy Ee irtip?ri/nxg7k(::tc/§mz MaX-SP_eeg Gripping | Weight .
order Number | MODEL (cm?) (r:]%)e ['(ammne];er] priz?re (0'(%?6) r.p.m(min- 1) Range (kg) Price
703850 |IJMR-04S|117|60[20/3.5(99.7|126.4|26.7|49.5(14/10| 23 114 9 3.8 (2200 (21.6) 4500 010~0117| 7.2
Rotary 1A h€ck iRures
Suitable off ight utting
1.
2.
3. It's ddal orfivihg routting osk igres ymounting he hack nondexing alle rootarytable.

The igtinctive edure s ihat het hack otates it he pmdle fadexing allle rmtary alile.
1.Rustproof reated yknder:
. . he Tylinder owt etgusty nd eied ven niev r igh aisture orking neironment.
>> Dimensions 2.Dust na& ater rgqof ower:
- e revpnt etal hips rooalant rof rgering nside f flwck yknder o t amtain tsi cauracy
nd ®dd otoriger erwice ifd.

L

< e I{‘] B ™ " 3.Integral ngumatic yknder.
1] [-5] 1) ) onizct huck nd ubt-in yknder o taeh ther irechly thus nables peration tability.
=1 | oreédver,it s iare oovenient orfnstallation nd peration irce heé sa f Iratv ube nd
rawd @ rea onoriger ecessary.
s >>Qperation xBmple

!
-
>> Specifications
Order uhiber MODEL . 2 cle|E g G WU L e > Thru- HoIe(D(i?mnl)ter) Piston (férgZ)
703900 JRT-05 |140| 85 | 16 60| 6 |180| 33 [ 62|14|10|25| 6- M8x1.25P | 4118 | 27 16 74
703902 JRT-06 |170| 96 | 20 [80| 7 (210| 40 |73|20|12]| 31| 6- M8x1.25P | @147 | 27 20 120
703904 JRT-08 |215|112| 30 (110, 8 |250| 42 [ 95|25|14| 35| 6- M10x1.5P | 2185 | 28 30 190
703906 JRT-10 |255|120| 43 (140 8 [290| 46 |{110{30|16| 40| 6- M10x1.5P | @220 | 30.5 43 280
3908 | JRT-05T [140| 85 | 16 60| 6 |180| 33|62 |14|10|25| 6- M8x1.25P | @118 | 27 16 74
3910 |JRT-06T [170| 93 | 20 |80| 7 |210| 40|73 |20(12| 31| 6- M8x1.25P | @147 | 27 20 120
Gripping oFce
VEBEL Plunger (trrgrl::e) Jaw tBJke(Diaan:ter) :\./Ipe.\r)r(].(fnr?r?_eld) Ig?li.rlﬁ;e?'\sﬂirae) 8 iLAgfrd%sure plf@fﬁ:r(lz\&;”Mpa) GrippingRange Wei(gkhgt) Price
JRT- 05 10 4.6 51 7 (0.7) 1340 (13.1) D4- 25136 9.3
JRT- 06 13 5.5 41 7 (0.7) 2330 (22.8) @25- D166 15.5
JRT-08 16 6.8 33 7 (0.7) 3730 (36.5) @33-2215 28.5
JRT- 10 19 8.0 26 7 (0.7) 5480 (53.7) DA43- D255 42.3
JRT- 05T 10 4.6 51 7 (0.7) 1340 (13.1) d4- 5136 9.0
JRT-06T 13 5.5 41 7 (0.7) 2330 (22.8) @25- 2166 15.0

- M15



| Thin h@ick

UBER HIN HKUCK

>>Dimensions

1. 30 °
2.
3 E-}
4. A { |-
== : | g_
SUPER HIN HUCKS {
1.The ahdle it nangle foO3edrees ni uoh oaovenient
or pérations
2.The"super hin hitkness"design fohuck ndrease he i
allowable istance"of awhining peration. %] }
3.Chuck lahge akes odding nd nilpading perations nal_
impler n& oms onvenlent. -
4.Hard ayws nd o® aws ao ebsad Itamatively. Unit:mm
0.D.C 1.D.C
Order ON| Model Al | A2 | B1|B2| C D = F G H J K L M kg) lamping lamping Briea
(mm) (mm)
704100 NBKO6 220|170| 58 | 18 130|147 | 45 6 3-M10 x 15P 68 | 26 | 40 | 10 | 13 10.6 28 @160 | @48 @150
704102 NBKO08 270|210| 65 | 20 |155(172| 60 6 3-M10 x 15P 82 | 28 | 43 11 | 13 18.1 | @11 @200 | @62 @190
704104 NBK10 315|255| 73 | 20 [190(210| 80 6 | 3-M12 x 175P | 93 | 32 | 52 | 12 | 16 27.9 @12 @250 | @72 @240
704106 NBK12 370|305| 80 | 22 |250(285|105| 5 |3-M12 x 175P | 118 | 40 | 59 | 14 | 18 42.9 @15 @300 | @86 @290
UBER HIN QUARE HWCK
>> Dimensions
mMC
1.MC A
W, X,Y,Z 0.05MM 1 T
2.MC s ; T - . I —
3. " 0.02MM ' m 11 x
4. 0.05MM = |
MC QUARE HUCKS =/ —
1.MC hucks re recisely raund,the olerances ' '—,'-l o {".':" 2| X x
f OWY,Z among hancks re ithin .@mm. e
2.Soft aws an ebsad Iltamatively orf aghining o
pecsal haped osk iqres,to ubstitute orf T "
esigning nd aking at flmg orf his upose. L ] ':-.:ll 1
3.The epetitive rigping cacuracy ith he ahd = = k' _'__,
aws ra ithin .@mm. =
4.parallel rigping cauracy ith ahd aws ao eb P C. !
ontmled ithin .@mm feer ligning ides fohucks. | o - La—"1
>> Specifications
o.D.C 1.D.C
N|P|Q|R| S A P .
Order ON| Model | A | B|Cc|D|E]|F G H{a|Kk|L|[M™ K@) || g lamping Price
(mm) (mm)
704200 MC06 215| 57 | 18 [130| 40 | 5.5 | 4-M10 x 15P | 68 | 26 | 39 | 14 | 144 |165|144|165| 66 | 18 | 11.4 | ¥4 @128 | ¥55 @128
704202 MCO08 250 | 65 | 20 |160| 55 | 6 |4-M12 x 175P| 82 | 28 | 43 | 17 | 174 |200|174|200| 83 | 18 | 18.6 | @5 @162 | P62 @162
704204 MC10 310| 72 | 22 |200| 70 | 6 4-M14 x P | 93 | 32 | 50 | 21 | 218 [250(218|250|104| 18 | 31.6 | @6 @200 | @72 @200
704206 MC12 380| 85 | 25 | 260|100 7 4-M16 x P [117| 40 | 56 | 23 | 274 [310|274|310|135| 22 | 56.6 | J10 @265| F90 @265
HIN KU CK >> Dimensions
1
2.
3 &
4
5 2" 0.8mm.

SUPER HIN HKUCKS

1.By he ompactness omes roim“Light Thin Short "
esigning oncept; het hocks rea ast ittihg

maB

o did osk igees orf emsuring
2.Just otate he hack n&b iréctily orf rigping nd

oodening Aandie s ioh egessary otebsad
3.Chuck oby s i ahe rofm ery udable teel

4.Jaws ap ebeversibly sed gripping foanous izes Y
ecdmes unh oaovenient ",
5.2 "chucks ao vengrip ot.@mm mall.
>> ifi i .
Specifications wl & | Unit:mm
Max.Gripping i@meter
Order ON Model A B (&) D E F G H J K L M kg) Price
0O.D.Clamping 1.D.Clamping
704300 SE02 63 28 118 | 100 16 4 4- M5 x 08P | 27 8 13 8 26 1.2 20.8 @63 @23 @58
704302 SE03 85 37 143 | 116 20 4 4- M6x 1P 35 11 15 | 10.5| 32 2.9 21 @81 @31 @70
704304 SE04 110 39 168 | 140 26 5 4-M6 x P 42 14 19 10 40 4.3 @1 @100 @36 @90
704306 SEO05 130 45 202 | 168 32 6 |4-M8 x 125P | 50 16 21 |11.5| 49 6.2 ?1.5 @116 243 @106
704308 SE06 160 52 248 | 208 50 8 |4-M10 x 15P | 65 19 26 15 70 | 111 1.5 @160 @252 @148

" M16



®
M ZG Lathe apts

3-JAWS BSULAR YPE HUCK 4- JAWS HGULAR YIPE HUCK

>> Dimensions

. : Front  olhti R M
Front oWhting Rear ouMing e ront otinting ear ou ':g
e 1 ¥ ]
! E 1 T ¥ - o ¥
(1 F 7 | il |
« ! =
. Ll “ 1uy
& Lag o L =nE
|

>> Specifications

Unit:mm
Max.Gripping i@meter
Order ON| Model A B C D E F G H d K L Max.Speed .
(kg) rEm) Price
O.D.Clamping | I.D.Clamping
705100 SCO03 85 | 45 | 60 73 16 | 3.5 3-M6 x P 35 (11|15 | 7 1.5 2500 @2-70 @24- 64
705102 SCo04 112| 58 | 80 | 95 | 24 | 45| 3-M8 x 125P | 42 | 14| 17| 8 | 3.3 2500 @3- 90 @32- 84
705104 SCO05 132 | 60 | 100 | 115| 32 | 4.5 3-M8 x 125P | 50 | 16 [ 20 | 8 4.6 2500 @3-110 @35- 110
705106 SCO06 167 | 66 | 130 | 147 | 45 5 3-M10 x 15P | 65| 19 | 23 | 10| 7.9 2000 @4- 160 @48- 150
705108 Sco7 193 | 76 | 155|172 | 58 5 3-M10 x 15P | 75| 22 | 28 | 11 | 12.0 2000 @4-180 @56- 170
705110 SCo08 103 | 76 | 160|176 | 58 5 3-M10 x 15P | 75 | 22 | 28 | 11 | 13.3 2000 @4- 180 @56- 170
705112 SC09 133 | 84 (190|210 70 | 5.5 | 3-M12 x 175P | 85 | 24 |34.5| 12 | 19.3 2000 @5-220 @62- 210
705114 SC10 273 | 86 | 230|250 | 89 | 55| 3-M12 x 175P | 98 | 28 | 39 | 12 | 26.2 1800 @6- 260 @70- 250
705116 SC12 310 | 96 | 260 | 285|105| 7 | 3-M12 x 175P |(110| 30 | 44 | 14 | 37.6 1800 @10- 300 @86- 290
705118 SC16 405 | 122 | 345 | 375|160 | 8 3-M14 x P |146| 40 | 56 | 15 | 80.7 1500 @14- 400 @100- 380
4JAWS BGULAR YIPE HUCK .
Unit:mm
Max.Gripping i@meter
Order ON| Model A B @ D E F G H J K L K Max.Speed X
(kg) r.pm) Price
O.D.Clamping | I.D.Clamping
705200 PS07 193 | 76 | 155|172 | 58 5 3-M10 x 15P | 75| 22 | 28 | 11| 12.1 2000 @4- 180 @56- 170
705202 PS09 233 | 84 | 190|210 | 70 | 5.5 | 3-M12 x 175P | 85 | 24 |34.5| 12 | 19.4 2000 @5- 220 @?62- 210
705204 PS12 310| 96 | 260 285|105| 7 | 3-M12 x 175P |110| 30 | 45 | 14 | 38.1 1800 @10- 300 @86- 290
705206 PS16 405 | 122 | 345 | 375|160 | 8 3-M14 x P |146| 40 | 56 | 15 | 82.4 1500 @14- 400 @100- 280

8- JAWS WL
TYPE HUCK

6- JAWS WL YPE HUCK

>> Dimensions

Front oNhting Rear ouMing
- -
¢ - 0
L]
i - !
i:|. .--\.. \ I
w
T -
=, ) "‘:_' -
- | T 1
LS L} |
>>  Specifications LB L !
Max.Gripping i&@meter
Order ON| Model | A B © D E F G H|{J | K]|L K Max.Speed .
(kg) Price
r.p.m)
0O.D.Clamping
705300 |ASO4 [112| 58 | 80 | 95 | 32 | 45| 3-M8 x 125P (45 | 14 | 46 | 8 | 3.8 1200 @2- 32
705302 |AS06 |167 | 65 | 130|147 | 60 5 3-M10 x 15P | 66 | 19 | 43 | 10 | 8.4 1200 @4- 60
8JAWS WL YPE HUCK Unitmm
Max.Gripping i&@meter
Order ON| Model | A B C D E F G H J K L K Max.Speed .
(kg) Price
r.p.m)
0O.D.Clamping
705400 |AE09 |[233| 84 |190|210|100| 5.5 |4-M12 x 175P | 85 | 24 | 60 | 12 | 21 1000 @7- 100

v 17



Front olhting Rear ouMing
e -]
3-JAWS - '-'!-_' ¥ — | I_-h n_:"’ i
POWERFUL YPE bl o d " h|E
£ Las]
v |
>>Dimensions I 1 ol == E
= P §
i L 7
e % | il |
>> Specifications SN | i | Unit:mm
Max.Gripping i@meter
Order ON| Model | A|B|C|D| E | F G H{J| K |L K Max. : .
9) Speed 0.D.Clamping I.D.Clamping Price
(r.p.m) mm) ( mm)
705500 SK06 |[167|66 (130{147[ 45| 5 |3-M10 x 15P |68(26| 39 (10| 8.6 | 2000 @8- 160 @55- 150
705502 | SKO7 [193| 76 |155|172| 58 | 5 | 3- M10 x 15P |82|28| 43 |11({12.8| 2000 @8- 1800 ?62- 170
705504 | SKO8 |[203| 76 (160|176| 58 | 5 | 3- M10 x 15P |82|28| 43 |11|14.1| 2000 @8- 180 ?62- 170
705506 SK09 [233]84(190(210| 70 [ 5.5|3- M12 x 175P|9332| 50 (12{20.4| 2000 @11- 220 @70- 210
705508 SK10 |[273| 86 (230(250( 89 | 5.5|3- M12 x 175P|93(32| 50 (12(26.7| 1800 @12- 260 @80- 250
705510 | SK12 |[310| 96 |260|285/105( 7 |3- M12 x 175P[11840| 56 |{14(39.3| 1800 @15- 300 @90- 290
705512 | SK16 |405|122(345|375/160(8.5| 6-M14 x P [15045(75.515(82.3| 1500 @30- 400 @110- 380
= I
3-JAWS 1A YPE HUCK = .
>> Dimensions v 2w,
- x 1% By
L i :'I'I_
x . l_'!.I.IE' " TN
e LR
>> Specifications 1* Dt I Unit:mm
Max.Gripping i@meter
Order ON Model | A| B | C D|E| F G H | J|K|L| P M | N Max. .
(kg) Speed Price
(r.p.m) O.D.Clamping| I.D.Clamping
705600 | A,5-08" [200 | 83 [33.5 |61 9 |40|@104.8 | 3-M10 x 15P [82|82.563|28(43|11(14.29|@16.3 |6.8|17.4| 2000 @8- 180 @62- 170
705602 | A,6-08" [200 | 83 |33.5 (826 |56|@133.4 | 3-M12 x 175P |82 |106.37528(43|11(15.88| ©19.3 |6.8| 30 | 2000 @11- 220 @70- 210
705604 | A,6-10" 255 [91.5 [36.5 82 6 [56|@133.4 | 3-M12 x 175P |93 [106.375/32|50 [12|15.88| ©19.3 [6.8|30.6 | 1800 @15- 300 @90- 290
Front olhting Rear ouMing 1 *
POWERFUL 'l . i 4 7
4- JAWS & : g i T
3 i - 7 - i
SCROLL YPE W = e r -
G [ - {1 Y d | |
T I = 1
- ! L
>> Specifications - -
Max.Gripping i&meter
Order ON| Model | A B|C |D| E F G H|J| K |[L K Max. - .
9) Speed 0.D.Clamping I.D.Clamping Price
(r.p.m) mm) ( mm)
705700 PSKO7 [193| 76 |155|172| 58 | 5 3-M10 x 15P | 82 |28 43 |11|12.7| 2000 @8- 180 ?62- 170
705702 PSK09 |233| 84 [190[210| 70 | 5 | 3-M12 x 175P |94 |32| 50 |12|20.8| 2000 @11 220 @70- 210
705704 PSK12 |310| 96 [260|285| 105 | 7 | 3-M12 x 175P |118|40| 56 |14| 49 | 1800 @15- 300 ©90- 290
705706 PSK16 | 405|122 345|375| 160 | 8.5 6-M14 x 2 |150|45|75.5|15(86.7 | 1500 @30 400 ©110- 380
POWER GFT AWS
Order ON MODEL A B C D E F G H J K L M M Weight(kg) Price
705800 |SO06Jaw 73 37 26 38.1 | 12.68 | 7.94 M8x1.25P 17.45 14 3.5 3 25 9 1.3
705802 | SO07 aw 95 48 31 44.4 | 12.68 | 7.94 M10x1.5P 25.3 17 3.8 3 34 11 2.6
705804 |SO009 aw [ 110 48 37 54 |19.03 | 12.7 | M12x1.75P 28 19 4.2 3 34 13 3.6
705806 |SO12 aw 125 54 42 63.5 | 19.03 | 12.7 M12x1.75P | 30.75 19 4.2 3 38 13 5.5
705808 |SO16 aw 160 70 50 76.2 | 19.03 | 12.7 M16x2P 41.9 25 5.5 3 48 17 10.4

 M18



MZG

2
1
2.
3 CNC
4
5

>>Dimensions

Lathe apts

-JAW BEEL @Y HUCKS

1.Can be used as a “Forming plate” for mach soft jaws.
2.Hard jaws and soft jaws can be adjusted just like on a power Chuck to increase the gripping
3.Hard jaws as well as Soft jaws are interchangeable with those of power chuck

T --_,-':| % 4.Chuck Body is made of steel to enhance sa operations for high speed machining
'._ ¥ ) 5.The Chuck Handle can be operated easily smoothly
m 1
A : 3¥ #‘. ! - -
e i b 4
B i < ,J' | ¥ a4 xh
- # -
- - s -
>> |llustrate
The chunk can be used Top jaws can be adjusted Hardjaws are interchangeable  Softjaws are interchangeable ~ Optional accessory:
>> Specifications arsnzé:::‘rlr:ginsgcﬁ:‘;:r ﬁxaccr::snliéog;:‘pzla:;“:;r:‘;; with those of power chucks.  with those of power chucks. Mounting plate.
Max.Speed Max. ri@ping i@meter ;
Order uhiber MODEL AlelclpolelEF G Hlaglk|lL]| ™ R [r-P-m(min”) 0.D.Clamping(mm) !-D.Clamping(mm)| Weight(kg) Price
706100 TNT-07 193| 78 [155(172| 58 | 5 | 3-M10x 1.5P | 73 | 31 | 38 | 11 | 20 12 3200 ?8~@235 266~3235 14.4
706102 TNT-09 |233| 85 (190[210| 70 |5.5|3-M12x 1.75P| 95 | 35 | 40 | 12 | 25 | 14 2800 @11~@280 @85~@280 223
- BAW BEEL @Y HUCKS
MaX.Sp_eed Max. ri@ping i@meter price
Order uhiber MODEL AlBlcl|bpl|E E G H J K LI M|R r.p.m(min"’) 0.D.Clamping(mm) !.D.Clamping(mm) Weight(kg)
706200 NT-07 193| 78 [155[172| 58 | 5 3-M10x 1.5P | 78 | 28 | 48 | 11 |20 |12 3200 ?8~@235 266~3235 13.1
706202 NT- 09 233| 85 |190{210| 70 | 5.5| 3-M12x 1.75P | 92 | 32 | 52 | 12 | 25| 14 2800 ?11~3280 ?85~3280 21.2
706204 NT- 10 273| 91 |230|250| 89 |5.5| 3-M12x 1.75P 101.5 37 | 56 | 12 | 30| 16 2400 ?12~@330 292~@330 30.5
706206 NT-12 310(104|260(285|105| 7 | 3-M12x 1.75P [116| 47 | 67 | 14 | 30| 21 2100 @15~@370 2104~2370 46.1

3-JAW BJUSTMENT

TEEL Y GROLL HUCKS

>>Dimensions

>>Dimensions

>> Specifications

Max. ri@ping i&@meter

order umber| MopeL | A | B S|P EIF G L M e P Bl Bt 10, Cemngon veont | price
706400 CT- 06 167(75.5/130|147| 45| 12 [3- M10x 1 6% P22 | 28 | 10 |3 - M1 2 x 1|. 40B(P | D4~D160 @48~@150 | 10.4
706402 CT-07 193| 85 |155|172| 58 | 12 {3 - M1 0 x 1 .7% [P24 |28.5| 11 |3 - M1 2 x 1|. 358(P | D4~@180 @56~2170 |12.9
706404 CT- 09 233| 92 [190|210| 70 [12.5(3- M12 x 1|.835 P8 | 33 | 12 [3 - M1 2 x 1|. 298P | B5~B220 @62~2210 |20.4
706406 CT-10 275| 98 [230(250| 89 [12.5(3- M12 x 1|.985 B0 | 38 | 12 [3- M1 2 x 1|. Z58(P | B6~B260 @70~2250 |29.3
706408 CT-12 310(111|260(285|105| 14 |[3- M1 2 x 1|170% B2 | 45 | 14 |3 - M1 2 x 1|. Z26(P | 210~2300 ?86~2290 |43.7

4-JAW RJUSTMENT TEEL DY GROLL HUCKS >> Specifications

o — MODEL A B © D E F G H J K L M ’;/léfxﬁ[.?eed o :Iax.‘ rigping  i@meter Weight s
0.D.Clamping(mm) |.p.Clamping(mm) | (k0
706500 FCT- 07 193| 85 [155[172| 58 | 12 {3 - M1 0 x 1| .75 P24 [28.5| 11 |3 - M1 2 x 1|. I56(P | ©4~D180 ?56~@170 | 13.2
706502 FCT- 09 233| 92 [190(210| 70 |12.5(3- M1 2 x 1|.865 P8 | 33 | 12 |3 - M1 2 x 1|. Z98(P | ©5~@220 ?62~@210 |20.7
706504 FCT- 10 275| 98 [230(250| 89 |12.5(3- M1 2 x 1|.985 B0 | 38 | 12 |3 - M1 2 x 1|. Z56(P | §6~@260 @70~2250 |29.8
706506 FCT-12 310(111(260(285[105| 14 |[3- M1 2 x 1|1705% B2 | 45 | 14 |3 - M1 2 x 1|. Z26(P | §10~@300 ?86~3290 |44.4

v 19



2-JAW

>> Specifications

eWERFUL YPE DNUSTMENT TEEL @Y HUCKS

>> Dimensions

>> Specifications

>>Dimensions

Order uMber| MODEL B 7 Jofp ek ’;@X'E’?ee.d m Zlax.. ribeing im.eter Weight
.D.Clamping(mm) 1.D.Clamping(mm) | (k9)
706600 TKT- 06 75.5 12 |3 - P26 |40.5| 10 . 408(P | D4~2160 @48~@150 | 10.4
706602 TKT- 07 85 12 |3 - P31 |49.5| 11 . I56(P | ©94~@180 @56~3170 |14.46
706604 TKT- 09 92 12.5[3 - M1 2 x 1]|. B7 | 50 | 12 . Z95(P | @5~@220 262~@210 |22.4
3-JAW OeWERFUL YPE DNUSTMENT TEEL @Y HUCKS
B

Max. ri@ping i@meter

Order umber| MODEL E 7 € I | Kt i I Weight
0.D.Clamping(mm) 1.D.Clamping(mm) | (k9)
701670 KT- 06 75.5 12 |3 - P26 | 40 | 10 1|. 408CP | @8~2160 @55~@150 | 9.7
706702 KT- 07 85 12 |3 - P28 | 43 | 11 1|. I56P | P8~2180 262~@170 |13.6
706704 KT- 09 92 12.5|3 - B2 | 51|12 1|. 798P | @11~2220 @70~2210 |21.5
706706 KT-10 98 12.5|3 - B5 | 54 | 12 1|. 758 | 912~2260 280~@250 | 30.4
706708 KT-12 111 14 |3 - B0 | 58 | 14 1|. 726 |P15-2300  @90-2290 |45 4
4- JAW OWERFUL YPE DNUSTMENT TEEL @Y HUCKS

Qo=
3l s
>>Dimensions
>> Specifications
Max. rifping i@meter
B F J K | L Max.Speed v
Order uhber MODEL e p'? . Weight
0.D.Clamping(mm) 1.D.Clamping(mm) | (k9)
706800 FKT- 07 85 12 |3 - P28 | 43| 11 1|. 358(P | @8~B180 262~@170 [ 14.1
706802 FKT- 09 92 12.53 - B2 | 51| 12 1[. 298P | @11~@220 @70~@210 | 22
706804 FKT- 10 98 12.53 - B5 | 54| 12 1|. Z58(P | @12~@260 @80~@250 |33.5
706806 FKT-12 111 14 3 - B0 | 58 | 14 1|. 220P | @15~@300 @90~@290 [46.1




Lathe apts

E | Made In LA

——— I |}

LMK worknolding

Okuma, LMC. Chiron

O KUMA
Rnuc oRotics

LMC w@vkholding
LMC
"

" LMc

The Name to Know in Wheel Chucks—For Passenger Cars,
Light Trucks, Heavy Trucks, Buses& Motorcycles

Draw end position Swing point Unclamp position

Chuck Diameter

Large

LMC Workholding is rapidly becoming the marketleader
in workholding for the manufacture of wheels for
passenger cars, light trucks trucks and buses.

LMC is a pratner in the Okuma Wheel Team which g (LiBhuTkuck(LiBhuTkuck.

provides the bulk of wheel cell equipment worldwide. 5 Bus) Bus)

Okuma. LMC. Chiron and Fanuc Robotics make up 8 20" wriiso " Us- 1420 LPS " 2200rpm " 2200rpm

the Wheel Team. & 19 UUMin.15" Max.24.5" " Min.15" Max.24.5"" """
2 18" --+ (Passenger aC ‘' (PassengerCar. - (PassengerCar.

LMC has engineered new wheel chuck technologies to include quick 17" .-~ Light ruck) g (IR 1 ZL;ggtka)

change and lightweight models. Our engineering staff offers years of 16" ... 2800rpm -+ 2800rpm B o ;;."‘Max |

wheel chuck design and implementation experience. 1gv ... Min.14" axM0.5 ML C20S Y | e O ey, | VNSRRI . W

Years of hydraulic actuator and power chuck experience too.
LMC also offers matching wheel chuck cylinders. Rely on LMC
Worknolding for your wheel production needs.

S
£
a

Next-generation cam arm design

WTi
149  DP9mm 24.59
k- |
us Croe
.-
Standard and Lightweight Series T
This chuck, available in four models. Does itall. The  Optional part detection system. consisting of three
WTi fits automobile and light truck wheels 149 to air-activated plungers, senses whether or not the eighit
209. truck and bus wheels up to 24.59 workpiece is properly seated, an essential (Base Chuck Only)
Contact LMC Workholding for the optimum clamping  component for any automatic/robot loaded 450
solution. US Series chucks are lightweight for application. 400 |
increased spindle life and faster cycle times. 350 |
300 ]
o 250 —
-1 200 [ | | B
r 150 e B B . |
S ol — -
50 | | | B
0 US-1420 US-1524 Wti-310 Wti-322
Rotationallnertia (Base Chuck Only)
5
4.5
2 s .
E |
o~ %3 |
E s l I N
RS E 21— | | [ | B
T 15—
= == == == =
I IKNE 05— — —f S
Unclamp 0 - -
US-1420 US-1524 Wti-310 Wti-322
C it Drawbar Drawbar Chuck A B
HlerE] \?ﬁi%y RPMs Pull Stroke Spindle Weight A 1B B B
Number max ; in/mm in/mm
Diameter ( ) (Ibs) (in/mm) Mount (Ibs) ( ) ( )
WTi- 310/ US- 1420 14 to 20 2800 7700 1.38/35 A2-8 264/160 21.50/546.2 5.90/149.7
WTi- 322/ US- 1524 15t024.5 2200 7700 1.38/35 A2-11 410/240 26.00/660.0 7.85/199.5
SS-3/4EX S-3/4EX L-3/4EX XL-3/4EX Z-3/4EX*
Model
Number E F E F E F E F E F
WTi- 310/US- 1420  21.5/547  22.4/570 21.5/547  23.0/584  22.0/559  24.1/611 23.1/587  25.0/634  24.3/618 26.2/665
WTi- 322/US- 1524 26.0/660 26.5/673 26.0/660 27.5/698  26.6/675 28.5/724 27.6/702 29.5/749  28.6/727 30.5/774

v 21



| Wheel hdack

Lean Production Series(Patent Pending)

Adjusting a cam arm from one wheel diameter to
another in seconds makes this chuck ideal for
aftermarket wheel manufacturers and OEM suppliers
who handle short-run specialty wheels.

Each cam arm handles 6 ranges within 15"to 20 wheel
size capacity. One: Insert wrench. Two: Crank cam
arms to desired diameter. Three: Remove wrench.

OEM

15~20

The LPS Series for automobiles and light trucks
allows for variations in raw castings as well as for
new “fashion” wheel designs where material is
added to the raw casting for first operation holding.

>>Dimensions >> Specifications

N"ﬂ?nd;;r CapacityWheelDiameter RPM® s(max) DrawbarPull(lbs) DrawbarStroke(in/mm)
LPS-1520 15't020" 2800 7700 1.38/35

Model A B

Number SpindleMount ChuckWeight(lbs) A i&(in/mm) B iB(in/mm)
LPS-1520 A28 300 29.45/748.0 7.32/186.0

LMC Wvkholding

2R 120
RNW

Chuck Actuators

LMC Workholding offers two chuck actuators specifi
cally designed for wheel chuck applications like yours.
These hydraulic cylinders offer optimum hydraulic
system pressure settings for the fastest clamping/
unclamping action available.

And their shorter lengths and lighter weights enhance
lathe acceleration and deceleration while improving
machine dynmics.

Model 2R 120 is a single-motion cylinder ideal for
applications that use solid mandrels or spring rings
for wheel centering. RNW is a dual-function cylinder
that is ideal for applications that actuate a collet or a
small three-jaw chuck for wheel centering.

>> Dimensions

RNW 20 2R 120
NE2) P 5% 300P, T ] M2E P S0P
(RS | T T Encosand BEmm Birohin Detoction Clamging Crylinda: /
Sk Delection Siroke Destnction Clamping E'.llrrd:.:_l/ M0 P1 8x300P " &
Carbering Cyfinges | L !

o

|-.3—“..|
12T
=

: |
et | i, me ey T ol
(E5L) — £ | =i
rwg-ilﬁu.- | N | Zomax | - A nlat 0 o ~m—
14 porte ot \‘L Aoy (Ol i \\ A3rmax
e BB . _'__&'J_'_I \"',, M 1 0aE :IEDEII'ILI R -::;:.I:Il}
i 203 -l 100 din B G - e Drain Por =72 -a-\
261 B0
J 150 din E-:IIC.
>> Specifications
latnping yGnder
Model Length nmO Stroke ime(sec) X . L2 2
Number 9 Borex Stroke(mm) Piston réa(in“/cm®)
2R-120 269 1.6 120x35 15.8/102
RNW 40 293 2.3(0.4) 146x35 17.2/111
ent@ring yGnder
Model x Max. per. re3sure RPMs Cylinder Weight
Number Borex Stroke(mm) Piston raéa(in’cm?) (b/in*- kgf/cm?) (Max) (Ibs)
2R- 120 n/a n/a 568/40 5000 33
RNW 40 50%x12 1.2/8 568/40 4000 50

T M22



@)
M ZG Lathe apts

AIR HED UBE AIR BED UBE FOR RINGING MKCHINES)
>> Dimensions '_1#: —

__ o ) .
500mm 50 >> Dimensions
8 30mm
Ex. Fillin 50 for required length of 500mm. R .
I 0 . . L S - oty ] it I
RESSLImgmm a4 30mmis optional for the length of 8 fitting.
T 5 _|_1| T = z — = 4
PRSI l. ey
>> Specifications >> Specifications
ClELs MODEL R ded Lubri i O MODEL R ded Lubri i
Number o Max.Speed CERMMEIELEE LUEiET Price Number o Max.Speed ecommended Lubricant Price
707100 JTB- XX-18 | 8000min™* | VG6 VG6 roqeal | 8000min’* 8000min* | JTBC-XX-18 | 8000min* |VG6 VG6 roqeal
707102 JTB- XX- 30 8000min™* | VG6 VG6 roqé&al | 8000min* 8000min* JTBC- XX- 30 8000min™* | VG6 VG6 roqeal

MOUNTING IFATES

>> Dimensions

ADP04 0806

ADPAD40E e

>> Specifications — '

order number | MODEL D [D1(h7)|D2|d1(H7)| P1 | H [H1|H2|h1|h2 M1 M2 M3 il
707200 FLP- 04 101.6/82.55(24|82.55| 25 |(38|14|24|3.2|2.5 6- M5x 0.8P0 PCD @88.90 12- M5x 0.8P0PCD @88.90 | 3-@3(PCD @88.9)
707202 | FLP-06 |152.4|124.97|24(124.97|34.5|38|14|24(3.2|2.5| 6-M6x 1IPUPCDO135.890 | 12-M6x 1P0PCD @135.890 | 3- @4(PCD 135.89)
707204 | FLP-08 |203.2|167.64/30(167.64| 50 |54|25|29|7.0/5.0| 6-M10x 1.5P0PCD @182.8801| 6- M10x 1.5P0 PCD 0182.88[] 3- @4(PCD ©182.88)

707206 | FLP-104 | 101.6|82.55|24|82.55| 25 |48|24|24|3.2|2.5| 6-M5% 0.8POPCD@88.90 | 12-M5x 0.8P0PCD @88.90 | 3-@3(PCD 288.9)
707208 | FLP-106 |152.4(124.97)24(124.97) 34.5 | 48| 24| 24]3.2|2.5] 6-M6x 1POPCD@135.890 | 12-M6x 1P0PCD 2135.890 | 3- O3(PCD 2135.89)

SOFT AWS OR WPER
PRECISION KUCKS

| 2

il
ol
<& i) e\l
~ L W o
>> Dimensions . >> Dimensions
E ni o _ﬁ’é-’.ﬁ.’.’m*
\.'I-'I.__._ ¥ ¥
ki :'.-h-r'_
alag N
:';_;':| Al
x e .
arar
! 2o

w23



Lathe apts

e
f=]

>> Dimensions

FORMING IRGS
(FOR GFT AWS

{ P o 1

LRI --'—-—'0—-a-i-¢-u-l-~:l

| &
e

OF WPER W Ja4
PRECISION IR HBJCKS) e Yo M i
b ;"_.:.I Y [ S|
>> Specifications -

ower uwber| MovEL | A | B |C|D|E|F| 6 | H | | J K L Weight(kg) | Price
707300 | JFR-04| 112 | 80 |22|30| 6 (21| 12.7 |12.7|12.7 | 6- M5x 0.8P |9-@3.175|3- M8x 1.25P 1.9

707302 | JFR- 06| 167 | 130 |30|30| 6 {40{ 12.7 | 12.7|12.7 |12- M5x 0.8P|9-@3.175|3- M10x 1.5P 4.3

707304 | JFR- 08| 203 | 160 |54|35| 6 |66| 25.4 | 25.4| - 6- M10x 1.5P| 6-@6.35 |3- M10x 1.5P 7.2

BAR TOPPER

>> Dimensions

E=
Dimension E:Join to inside diameter of drawtube.

>> Specifications

order wwber | wope. | A | B | C | D F G H MatShees | stroke |MalchingCylinderOff
707400 JPE-06 | 76 | 64 | 910 | 24 | wi1"-12 9 6-M6x1Px55 3000 350 SH1246
707402 JPE-08 | 85 | 73 | 1010 | 24 | w112 9 6-M6x1Px65 2400 400 SH1562
707404 JPE-10 |108| 98 | 1310 | 24 | W1"-12 9 6-M6x1Px65 2000 400 SH1875
707406 JPE-12 [120]108| 1310 | 32 | M33x2P 9 6-M6x1Px70 1600 400 SH2091
a7408 JPE-15 |160|148| 1310 | 32 | M33x2P | 13 | 6-M6x1Px75 1200 400 SH2511

T M24



MZG

Lathe apts

Soft aw SJ- SERIES)For yHraulic h@cks
>> Dimensions
T o
B &, o %*:"_ - o gl [
A | N . L A AN AN - I
i | AN RN AN | WA YW - R
. Y . | | Wl L
'lﬂ—-—l— *f--,-ﬂ a _I_l_u.z 1’:__ -
-
-
1 Pitch 1.5 BRI Fitch 3.0 SEEILEE
e
> > Specifications
Order uhiber | MODEL g1 &2 &e &4 &8 &G &0 || &k &Y Serration _iteh| Weight(kg) Price
707100 SZ-04 49.5 23 23 10 4.5 10 14 25.5 M8X1.25P 1.5X60 ° 0.42
707102 SZ-05 62 25 30 10 4.5 10 14 38 M8X1.25P 1.5X60 ° 0.85 165
707104 SZ- 06 73 31 36 12 5 15 20 38 M10X1.5P 1.5X60 ° 1.5 200
707106 SZ-08 95 35 38 14 5 24 25 46 M12X1.75P 1.5X60 ° 2.4 250
707108 SZ-10 110 40 42 16 5 30 30 50 M12X1.75P 1.5X60 ° 3.6 300
707110 Sz-12 129 50 50 21(18) 6 39 30 60 |M16X2P(M14x2P) 1.5X60 ° 6.1 450
707112 SZ-15 165 62 62 22(25.5) 8(5) 37 43 85 M20X2.5P 1.5X60 ° 12.5
707114 SZ-18 165 62 62 22(25.5) 8(5) 37 43 85 M20X2.5P 1.5X60 ° 12.5
707116 SzZ-21 180 65 70 25 9 40 60 80 M20X2.5P 3.0X60 ° 16.2
707118 SZ-24 180 65 70 25 9 40 60 80 M20X2.5P 3.0X60 ° 16.2
Speclal o8 aw .
For yHraulic h@cks le ot
. —
.
\#
- g "
= -
l i
—
5 6 8 10 12
60 [707200|SZ5C60 185 | 707220 |SZ6C60 220 |707244|SZ8C60 270 |707276/SZ10C60 340 | 707304/ SZ12C60 490
90 [707202|SZ5C90 1751707222 | SZ6C90 210 |707246|SZ8C90 260 [707278/SZ10C90 320 | 707306/ SZ12C90 465
120 |707204/SZ5C120 165 | 707224 | SZ6C120 200 |707248|SZ8C120 250 [707280/SZ10C120 300 | 707308| SZ12C120 450
707206|SZ5C120H40 |300 | 707226 |SZ6C120H50 |350 |707250{SZ8C120H40 |350 [707282|SZ10C120H50 |400 | 707310/SZ12C120H60 | 600
707208|SZ5C120H50 |350 |707228|SZ6C120H60 |400 [707252|SZ8C120H50 |400 |707284|SZ10C120H60 |450 | 707312/SZ12C120H70 | 700
707210/ SZ5C120H60 |400 | 707230 |SZ6C120H70 |450 |707254|SZ8C120H60 |450 [707286|SZ10C120H70 |550 | 707314|/SZ12C120H80 | 750
707212|SZ5C120H70 |450 | 707232 |SZ6C120H80 |500 |707256/SZ8C120H70 |500 |707288|SZ10C120H80 |600 | 707316] SZ12C120H90 | 950
707214|SZ5C120H80 |650 | 707234 |SZ6C120H90 |550 |707258|SZ8C120H80 |550 [707290|SZ10C120H90 |700 | 707318/SZ12C120H100| 1100
707216/SZ5C120H90 |750|707236|SZ6C120H100|600 [707260{SZ8C120H90 |600 |707292|SZ10C120H100|800 | 707320/ SZ12C120H120| 1200
120 [707218[SZ5C120H100|850 | 707238 | SZ6C120H120| 800 |707262[SZ8C120H100|700 |707294|SZ10C120H120]900 | 707322 SZ12C120H150] 1400
707240 |SZ6C120H130| 900 |707264|SZ8C120H120|750 |707296|SZ10C120H140|1000
707242 |SZ6C120H150|1000|707266/ SZ8C120H130|800 |707298|SZ10C120H150|1150
707268/ SZ8C120H140/900 |707300[SZ10C120H180|1600
707270/ SZ8C120H150|1000{707302|SZ10C120H200|1800
707272/ SZ8C120H180|1400]
707274 SZ8C120H200|1650

. M25



| Raw law/ ahd laws of athe

Hard alv HJ- SERIES)For yHraulic h@cks

>> Dimensions

} | [
p FIG. 1 FIG. 2
r H-1 =y L HZ
ElpEm—— -
3 ;
) i
H-19 s o
>> Specifications
Order _umber | MODEL bb || e || ke bbd RS || [RG || R-7 || RRG | KO 10 Serration iteh |Weight(kg)| Reference rBwing Price
707400 Yz4C 53 23 28 10 4 29 14 24 10 M8x1.25P 1.5X60 ° 0.4 -2 Fig.2
707402 Yz5C 53 23 28 10 4 29 14 | 24 | 10 M8x1.25P 1.5X60 ° 0.4 -2 Fig.2 1900
707404 Yz6C 67 31 36 12 5 39 20 28 12 M10x1.5P 1.5X60 ° 0.95 -2 Fig.2 2100
707406 Yz8c 87 35 51 14 5 295 | 25 | 18 | 12 M12x1.75P 1.5X60 ° 1.9 -1 Fig.1 2400
707408 Yz10C 101 | 40 54 16 5 455 | 30 | 18 | 13 M12x1.75P 1.5X60 ° 2.8 -1 Fig.1 3000
707410 Yz12C 108 | 50 67 | 21(18) | 4(5) 49 30 | 20 | 16 |M16x2P(M14x2P)|  1.5X60 ° 3.5 -1 Fig.1
707412 YZ15C 143 | 62 86 |22(25.5)| 8(5) 55 43 | 38 | 20 M20x2.5P 1.5X60 ° 9.5 -1 Fig.1
707414 Yz18C 143 | 62 86 |22(25.5)| 8(5) 55 43 | 38 | 20 M20x2.5P 1.5X60 ° 9.5 -1 Fig.1
707416 Yz21C | 159.5| 80 90 25 9 97.5 | 50 | 62 | 40 M20x2.5P 3X60 ° 15.3 -2 Fig.2
707418 Yz24C | 159.5| 80 90 25 9 97.5 | 50 | 62 | 40 M20x2.5P 3X60 ° 15.3 ) Fig.2

SOFT AWS OR WL AAK PWER HUCKS

>> Dimensions

s FIG. 1 -
—l
=]

H

T M26



MOUNTING IFATES

>> Dimensions

MOUNTING LIFATES 7 ol 2]
— L ]
MZG b otr £ e
"MZG" mounting plates are i I= ]
available to any kinds of
spindle noses. x g E T ;.EL ii: < 1 ‘3| i _ g !
| I il |
W [ g
| e

i1 Fig.1 B-2 Fig.2 M-31 Fig.3
>> Specifications
Nose of Spindle A H H2 E Reference rawin ;
Order uhber MODEL D 9 Price
707500 JTO05A 4 A4 110 82.6 -- 20 -1 ig-1 300
707502 JTO06A.5 A5 140 104.8 -- 15 -1 ig-1 300
707504 JTO08A,6 A6 170 133.4 -- 17 -1 ig-1 400
707506 JTO010A,8 A8 220 171.4 -- 18 -1 ig-1 500
707508 JTO012A,8 A8 220 171.4 -- 18 -1 ig-1
707510 JTO015A,11 A,11 300 235 -- 22 -1 ig-1
707512 JTO018A,11 A1l 300 235 -- 22 -1 ig- 1
707514 JT021A,15 A,15 380 300.2 -- 27 -1 ig-1
707516 JT024A,20 A,20 520 463.6 -- 27 -1 ig-1
Nose of Spindle A H H2 E Reference rBwin ;
Order uMber | MODEL D 9 Price
707600 JTOO05A.5 A5 110 104.8 82.6 45 -3 ig- 3 = 400
707602 JTO06A4 A4 140 82.6 104.8 20 -2 ig- 2 A
707604 JTOO06A,6 A,6 140 133.4 104.8 40 -2 ig- 2 A
707606 JTO8A.8 A,8 170 171.4 133.4 45 -2 ig- 2 H 600
707608 JTO08A5 A5 170 104.8 133.4 23 -2 ig- 2 =
707610 JT010A,6 A6 220 133.4 171.4 28 -2 ig- 2 = 750
707612 JT012A.6 A,6 220 133.4 171.4 28 -2 ig- 2 A
707614 JT012A,11 A,11 220 235 171.4 54 -2 ig- 2 A
707616 JTO015A,8 A8 300 171.4 235 33 .2 ig- 2 A
707618 JTO18A,8 A8 300 171.4 235 33 -2 ig- 2 =
707620 JT021A,11 A,11 380 235 330.2 41 -2 ig-2 H
707622 JT024A,11 A,11 520 235 463.6 45 -2 ig- 2 =
707624 JT024A,15 A,15 520 330.2 463.6 42 -2 ig- 2 =
CN C Bar Puller is great for installing on the turret of CNC
Lathes or other Automatic special purpose machines
BA R LH_ L ERS Cm I\m ALT H ES to substitute for automatic bar feeder. For the
repetitive pulling length is very accurate; the use of
Bar Puller is a very convenient and effective
CNC ) : )
alternative for automatic machines.
Application: 1.The opening of bar puller shall be
3~5 mm less than the diameter of
1 3~5mm work piece.
>>Di . 2.The gripping length has to be more
2. 16mm [mensions than 16mm from chuck surface.
3.R1 12~26 Ma ) h 3.R1 Gripping range:12~26mm.
4.R2 27~46 B -'_: R - i i 4.R2 Gripping range:27~46mm.
A ] PPy
4 | _I ¥ T | R
[ = el I
500 I | '". | - ,.:;; 1 R1 R2 S T
e T = 16 32 32 | 315
J_I—" e BE e .
LLQ woS N 16 32 25 24.5

27



|Lathe |&ve/ o@Bverter

SHB Sleeve

(Parts)
© Dimension (mm) Screw LWrench
3 Order
S ModelNo |stock| @D ad L H Assembly Holder ' /QX Number | Price
SHB- 1602 bt 16 2 100 15 Cc02 708100| 200
SHB- 1603 - 16 3 100 15 Cco3 708102| 200
SHB-1604 | ® 16 4 100 15 C04/H04 JM40 L2 708104| 200
SHB- 1605 et 16 5 100 15 C05/H05 708106| 200
SHB- 1606 et 16 6 100 15 C06/H06 708108| 200
SHB- 1607 et 16 7 100 15 C07/s08 708110| 200
SHB- 1608 et 16 8 100 15 C08/s08 708112| 200
SHB- 1610 et 16 10 100 15 C10/s10 IM60 L3 708114| 200
SHB- 2004 - 20 4 100 18 co4 708116| 250
SHB- 2005 - 20 5 100 18 Co05 708118| 250
SHB- 2006 - 20 6 100 18 Co6 708120| 250
SHB- 2008 - 20 8 100 18 C08/s08 708122| 250
® SHB- 2010 - 20 10 100 18 C10/S10 JM60 L3 708124| 250
] SHB- 2012 et 20 12 100 18 C12/S12 708126| 250
SHB- 2204 et 22 4 100 20 Cco4 708128| 300
SHB- 2205 bt 22 5 100 20 Co05 JM40 L2 708130| 300
SHB- 2206 et 22 6 100 20 C06 708132| 300
SHB- 2208 bt 22 8 100 20 C08/S08 708134| 300
SHB- 2210 bt 22 10 100 20 C10/S10 IM60 L2 708136| 300
SHB- 2212 bt 22 12 100 20 C12/S12 708138| 300
SHB- 2216 bt 22 16 100 20 C16/S16 708140| 300
MTHR MTHR athe udck e@ter I&k
Dimension (mm)
Order )
Number Model No Stock D L L1 H H2 | Price
| 708200 | MTHR2032 - 32 | 80 | 18 | 64 | 20 | 500
H | 708202 | MTHR2532 - 32 | 80 | 18 | 64 | 25 | 500
708204 | MTHR2540 - 40 | 90 | 30 | 76 | 25 | 500
: 708206 | MTHR3240 - 40 | 90 | 30 | 76 | 32 | 500
708210 | MTHR2040 - 40 | 90 | 30 | 76 | 20 | 500
M CH Centre-drill oHier

(Parts)

L
Wrench

A|B|L|H1 'Screw ﬁ Price

D

708220/ MCH2020K-05 e | 5|20|20|125/20| Fs40| L2 | 500
6
8

Dimension (mm)

Order
Number Model No Stock

708222| MCH2020K-06 - 20|20 |125/ 20| FS50| L2.5 | 500
708224 MCH2020K-08 -
708226/ MCH2020K-10 e |10]20|20|125/ 20| Fs80| L4 |500
708228 MCH2525M-05 e | 5 |25|25|150/25| FS40| L2 |s500
708230 MCH2525M-06 e | 6 |25|25|150| 25| FS50| L2.5 | 500
708232| MCH2525M-08 e | 8|25/25(150/ 25| FsS60| L3 |s500
708234, MCH2525M-10 e | 10| 25| 25|150| 25 FS80 L4 500

M28

20| 20 |125] 20| FS60 L3 | 500




®)
M ZG

Sleeve
FIG-1 FIG-2
M
T ) )
@ @ @ o o1 d @ w o

i ) J

L1 H

L L1
L
Dimension (mm)

Order uhber Model No Stock d D L L1 D1 H M Fig | Price
708300 D16- TO3 s 3 M4 300
708302 D16- T04 o 4 M4 250
708304 D16- TO5 s 5 19 M5 250
708306 D16- T06 e 6 14.5 M5 1 | 250
708308 D16- TO7 s 7 16 62 55 M6 250
708310 D16- TO8 o 8 M6 250
708312 D16- T10 s 10 24.5 M4 250
708314 D16- T12 e 12 19 50 9 2 | 250
708316 D20- T02 . 2 300
708318 D20- TO3 e 3 300
708320 D20- T04 s 4 200
708322 D20- T05 e 5 200
708324 D20- T06 s 6 17.5 M6 200
708326 D20- TO7 e 7 1 | 200

. 708328 D20- T08 s 8 200
708330 D20- T09 e 9 20 67 60 27 200
708332 D20- T10 s 10 200
708334 D20- T12 e 12 200
708336 D20- T13 s 13 200
708338 D20- T14 e 14 200
708340 D20- T16 - 16 40 13 21 200
708342 D20- MTAL | e | MTA1 . . 300
708344 D20-MTA2 | e | MTA2 300
708346 D25- T04 e 4 200
708348 D25- T05 s 5 200
708350 D25- T06 e 6 200
708352 D25- TO7 s 7 200
708354 D25- TO8 e 8 23.5 M6 1 | 200
708356 D25- T09 s 9 200
708358 D25-T10 e 10 200
708360 D25- T12 s 12 200
708362 D25-T13 e 13 25 64 58 35 200
708364 D25- T14 s 14 200
708366 D25-T16 e 16 200
708368 D25- T18 s 18 51 19 5 | 200
708370 D25- T20 e 20 200
708372 D25- T22 s 22 200
708374 D25-MTAL | e | MTA1 ] ] 300
708376 D25-MTA2 | e | MTA2 300

M29



| Lathe lexve

Dimension (mm)

Order uMber | ModelNo | stock d D L L1 D1 H M Fig | Price
708400 D32-T04 L) 4 200
708402 D32- TO5 ) 5 200
708404 D32-TO6 e 6 85 70 M6 200
708406 D32- TO7 L) 7 200
708408 D32-T08 e 8 200
708410 D32- T09 e 9 295 200
708412 D32-T10 L) 10 200
708414 D32-T12 ) 12 1 200
708416 D32-T13 L) 13 M8 200
708418 D32-T14 e 14 32 85 55 38 200
708420 D32-T16 [ 16 200
708422 D32-T18 L) 18 200
708424 D32-T20 [ 20 200
708426 D32-T22 L) 22 77 14 2 200
708428 D32-T25 e 25 200
708430 D32- MTA1 [ MTA1 300
708432 D32- MTA2 e MTA2 - - 300
708434 D32- MTA3 L) MTA3 300
708436 D40- T04 L) 4 250
708438 D40- TO5 ) 5 250
708440 D40- TO6 L) 6 250
708442 D40- TO7 L) 7 250
708444 D40- TO8 [ ) 8 250
708446 D40- T09 [ ) 9 250
708448 | D40-T10 e | 10 38 M8 | 11 250
708450 D40-T12 L) 12 250
708452 D40-T13 L) 13 250
708454 D40-T14 e 14 250
708456 D40-T16 e 16 40 100 85 46 250
708458 D40- T18 e 18 250
708460 D40- T20 ) 20 250
708462 D40- T22 L) 22 250
708464 D40- T25 e 25 77 14 2 250
708466 D40- T30 L) 30 250
708468 D40- T32 L) 32 250
708470 D40- MTAL [ MTA1 350
708472 D40- MTA2 ) MTA2 350
708474 D40- MTA3 [ ) MTA3 ) ) 350
708476 D40- MTA4 e MTA4 350
708478 D50- T08 ) 8 500
708480 D50-T10 L) 10 500
708482 D50-T12 L 12 500
708484 D50- T16 e 16 48 M8 1 500
708486 D50- T20 ) 20 500
708488 D50- T25 L 25 50 100 85 58 500
708490 D50- T32 L) 32 500
708492 D50- T40 L) 40 7 14 2 500
708494 D50- MTA3 L) MTA3 500
708496 D50- MTA4 e MTA4 - - 500
708498 D50- MTAS e MTAS 500

M30



®
M ZG Lathe apts

L1
L L2
L4
| O\,
: W © 583G
max 3L
I
Dimension (mm)
Nut :
\order el Jo Stock| | L1 L2 |max 3L L4 c1 D1 D2 | Collet |Wrench| Price
708500| SSH16- ECH7-32 o 32 48 16 35 16 300
708502| SSH16- ECH7- 70 o 70 94 24 55 300
708504| SSH20- ECH7- 45 o 45 61 16 45 11.5 23 0.5-7 AR11 | FK-3 | 300
708506| SSH20- ECH7- 70 - 70 94 24 55 300
708508| SSH20- ECH7- 105 o 105 129 24 70 300
708510| SSH20- ECH10- 40 o 40 63 23 45 20 300
708512| SSH20- ECH10- 70 o 70 105 35 70 17 32 0.5-10 AR16 | FK-4 | 300
708514| SSH20- ECH10- 105 o 105 140 35 80 300
708516| SSH20- ECH13- 70 L) 70 106 36 75 19 36 1-13 AR20 FK-5 300
708518| SSH25- ECH7- 62 o 62 86 24 55 11.5 23 0.5-7 AR11 | FK-3 | 400
708520| SSH25- ECH10- 70 70 105 35 70 17 32 0.5- 10 AR16 | FK.4 |-400
708522| SSH25- ECH10- 105 105 140 35 80 25 400
708524| SSH25- ECH13- 70 70 106 36 75 19 36 1-13 AR20 | FK-5 | 400
708526| SSH25- ECH16- 70 70 110 40 80 20 43 1- 16 AR25 | FK-6 | 400
708528| SSH32- ECH13- 80 80 116 36 75 19 36 1-13 AR20 FK-5 500
708530| SSH32- ECH16- 80 80 120 40 80 20 43 1- 16 32 AR25 | FK-6 | 500
708532| SSH32- ECH20- 80 80 128 48 100 500
708534| SSH40- ECH20- 80 80 128 48 100 23 51 2-20 40 AR32 | FK-8 | 600
708536| SSH40- ECH20- 110 110 158 48 100 600
L1
L2 L L2
L4 N L4
N 0O
o o R
-l
g e T
Dimension (mm)
Order Model No Nut i
N Stock L L1 L2 C1l L4 D1 D2 Collet |Wrench Price
umber
708600 SSH20- ECH7WS- 33 e 33 65 20 500
708602| SSH20- ECH7WS- 53 - 53 85 16 19 115 05-7 AR11 | SP-17al 500
708604| SSH3/4- ECH7WS- 33 - 33 65 19.05 500
708606| SSH3/4- ECH7WS- 53 e 53 85 ' 500
708608| SSH22- ECH10WM- 70 - 70 122 26 22 18 0.5- 10 AR16 |AE-16M| 600
708610/ SSH22- ECH10WM- 85 o 85 137 22 600
708612| SSH22- ECH7WMS- 100 ° 100 142.5 16.5 19 11.5 0.5-7 AR11 |[AP-17A| 600
708614| SSH22- ECHIOWMS-100| e 100 142.5 26 22 18 0.5-10 AR16 |AE-16M| 600
708616| SSH32- ECH13WM- 55 e 55 109 27 28 19 1-13 32 AR20 |AE-20M| 800
708618| SSH32- ECH13WM - 85 - 85 138 27 28 19 AR20 |AE-20M| 800

M31



| Lathe xEension oH

- COLLET GLDER @GR Q@OLANT

It s ised odether ittv aolant olket.
A iping ceew sin ihe abk rdet id® fo aldeh.

L i L2
. ‘H
N R i S
max 3L
Dimension (mm)

Order Model No it i
Number Stock L L1 L2 max 3L L4 D3 D1 D2 Collet |Wrench Price
708700 SSH20- ECH70H- 40 o 70 106 36 83 11.5 23 0.5-7 AR11 FK-3 400
708702| SSH20- ECH100H- 40 o 40 85 45 55 17 a2 0.5- 10 20 AR16 | Fk.a 400
708704| SSH20- ECH100H- 70 - 70 115 45 85 400
708706 SSH20- ECH130H- 70 o 70 117.5 47.5 85 19 36 1-13 AR20 FK-5 400
708708| SSH25- ECH100H- 70 - 70 115 45 85 0.5-10 AR16 | EK-a4 500
708710 SSH25- ECH100H- 105 - 105 150 45 95 17 32 25 500
708712 SSH25- EOH130H- 70 L 70 117.5 47.5 85 19 36 1-13 AR20 FK-5 500
708714| SSH25- ECH160H- 70 e 70 121 51 85 20 43 1-16 AR25 FK- 6 500
708716 SSH32- ECH130H- 75 - 75 122.5 47.5 85 19 36 1-13 AR20 | FK-5 | 600
708718| SSH32- ECH160H- 75 o 75 126 51 85 20 43 1-16 32 AR25 FK- 6 600
708720 SSH32- ECH200H- 75 o 75 134 59 90 23 51 2-20 AR32 FK-8 600
708722| SSH3/4- ECH100H-105 | e 105 150 45 94 17 32 05-10 -29:95 | \pi6 | Ek-a |-400
708724| SSH1-ECH100H- 105 - 105 150 45 94 25.4 500

- COLLET OGLDER @R @OLANT

It s ised odether ittw aolant oltet.

A iping ceew sin iheé abk rdet id® fo aldeh.

L L2
@
= [] T -l
max 3L
Dimension (mm)

ord Model N ey i
N odefNo Stock| | L1 L2 |max 3| L4 D3 D1 D2 D2 | cCollet |Wrench| Price
708800| SSH20- ECH7SOH- 40 - 40 56 16 33 11.5 19 0.5-7 AR11 |SP-17A| 350
708802| SSH20- ECH10SOH- 40 - 40 62 22 36 20 17 350
708804] SSH20- ECH10SOH- 70 IS 70 90 22 66 350
708806| SSH25- ECH10SOH- 40 e | 40 63 23 37 17 28 | 05-10 AR16 | SP-25 |— 2
708808| SSH25- ECH10SOH- 50 - 50 73 23 47 25 22 450
708810| SSH25- SOH13SOH- 50 - 50 73.5 23.5 46 19 34 1-13 AR20 | SP-30 | 450
708812| SSH32- ECH20SOH- 80 - 80 115 35 75 23 50 2-20 32 36 AR32 | FK-7 | 500

M32




®
M ZG Lathe apts

STANDARD IVE HENTER

Or defr alB|c|oloi]alL |2 g | SV .
Numbeér Model Accuracy Weight kgs Pricle
709100 BZ-MT.3H 39| 55| 86| 53|30 | - |180| 0.005 | 60° 1.28kgs
709102 BZ-MT.4H 42 | 62| 108| 63 | 32 - | 208| 0.005 | 60° 2.20kgs @

709104 BZ-MT.5H 49 | 71| 136| 83| 40 | - |256| 0.005 | 60° | 4.33kgs
709106 BZ-MT.5H 80 | 110| 189| 128| 70 | - | 379| 0.008 | 60° 14.2kgs
709108 BZ-MT.1B 17| 43| 70| 35| 15 - | 120| 0.005 | 60° 0.75kgs

709110 BZ-MT.2B 24| 41| 80| 45| 20| - | 145| 0.005 | 60° | 0.95kgs
709112 BZ-MT.3B 39| 55| 86| 53|30 | - |180| 0.005 | 60° 1.28kgs @

709114 BZ-MT.4B 42 | 62|108| 63 | 32 | - |208| 0.005 | 60° 2.20kgs
709116 BZ-MT.5B 49 | 71|136| 83| 40 | - |256| 0.005 | 60° | 4.33kgs
709118 BZ-MT.6B 80 | 110| 189| 128| 70 | - | 379| 0.008 | 60° 14.2kgs
709120 BZ-MT.3X 45| 55| 86| 53 | 30 | 10 | 186| 0.005 | 60° 1.28kgs @
709122 BZ-MT.4X 52 | 62]108] 63 | 32 | 12 | 218| 0.005 | 60° 2.20kgs
709124 BZ-MT.5X 59| 71| 136| 83 | 40 | 14 | 266| 0.005 | 60° 4.42kgs

STANDARD EAVY-DUTY IYE HENTER

o @ Co 9 G.W.
Nurmbe(rr Model Ale|e| DR e L Accuracy Weight kgs Price
709200 | ZXB-MT.3H | 35| 65| 86| 64 | 25 | - |186| 0.005 | 60° | 1.9kgs
709202 | ZXB-MT.4H | 41| 74 |108| 73| 32 | - |223| 0.005 | 60° | 2.85kgs
709204 | ZXB-MT5H | 49 | 78 | 136| 94 | 40 | - |263| 0.005 | 60° | 5.6kgs
709206 | ZXB-MT.3B | 35| 65| 86| 64 | 25 | - |186| 0.005 | 60° | 1.9kgs
709208 | ZXB-MT.4B | 41 | 74 |108| 73| 32 | - |223| 0.005 | 60° | 2.85kgs
709210 | ZXB-MT5B | 49 | 78 | 136| 94 | 40 | - |263| 0.005 | 60° | 5.6kgs
HIGH- SPEED HRECISION IVE HENTER
or delr Co 9 G.W.
Number Model Ale|e|D|ee]|e|t Accuracy Weight kgs Pricle
) 709300 | GS-MT.3H 38| 58| 86| 48| 30 | - |182| 0.005 | 60° | 1.25kgs
- 709302 | GS-MT.4H 45 | 65| 108| 62 | 32 | - |215| 0.005 | 60° | 2.22kgs @
709304 | GS-MT.5H 50| 70| 136| 72 | 40 | - |256| 0.005 | 60° | 3.60kgs
y L 2 709306 | GS-MT.3B 38| 58| 86| 48 | 30 | - |182| 0.005 | 60° | 1.25kgs @
i ol B4 C o 709308 | GS-MT.4B 45| 65|108| 62 | 32 | - |215| 0.005 | 60° | 2.22kgs
LR iy 709310 | GS-MT.5B 50| 70 |136| 72| 40 | - |256| 0.005 | 60° | 3.60kgs
e e e
& ‘-1' a1 I | - [ J 709312 | GS-MT.3C | 48| 58| 86| 48 | 30 | 10 | 192| 0.005 | 60° | 1.28kgs
'\-\._‘{ |
- 5 t - 709314 | GS-MT4C | 52| 65| 108| 62 | 32 | 12 | 225| 0.005 | 60° | 2.26kgs @
Li 1 &
709316 | GS-MT.5C | 60 | 70 | 136| 72 | 40 | 14 | 266| 0.005 | 60° | 3.66kgs

~ IYEE



| Lathe allstock e@ter

LARGE- DUTY IYE HENTER

Nouf n?be;r e MT6-6T | MT6-8T | MT6-10T | M80-8T M80-10T| M80-12T | pr i de

709400 (kg) 6000 8000 10000 8000 10000 12000

709402 (mm) 0.01 0.01 0.01 0.01 0.01 0.01

709404 A 196 215 215 196 215 257

709406 B 140 160 180 160 180 200

709408 D 60 70 80 70 80 85

709410 K 62 68 77 68 77 86

709412 ) 60° 60° 60° 60° 60° 60°

SIDES IYE ENTER
‘ y or de|r Al B|C|D|D1| d| L co 0 GW )

Numb e r Model Accuracy Weight kgs Price
709500 | WX-MT.3H | 39| 55|86 | 53| 45| - |180| 0.005 | 60° | 1.28kgs @
709502 WX-MT.4H | 42| 62 |108| 63 | 53 | - |208| 0.005 | 60° | 2.20kgs
709504 WX-MT.5H | 49| 71 |136| 83| 68 | - |256| 0.005 | 60° | 4.33kgs
709506 WX-MT.3B | 39| 55|86 | 53| 45 | - |180| 0.005 | 60° | 1.28kgs
709508 WX-MT.4B | 42| 62 |108| 63| 53 | - |208| 0.005 | 60° | 2.20kgs @
709510 WX-MT.5B | 49| 71 |136| 83| 68 | - |256| 0.005 | 60° | 4.33kgs
709512 WX-MT.3X | 45| 55| 86 | 53| 45 | 10 | 186| 0.005 | 60° | 1.28kgs
709514 WX-MT.4X | 52| 62 |108| 63| 53 | 12 | 218| 0.005 | 60° | 2.20kgs @
709516 WX-MT.5X | 59| 71 |136| 83 | 68 | 14 | 266| 0.005 | 60° | 4.42kgs

SIDES IVE HENTER

Or defr A|lB|C|D|Dl| d| L co 6 eW. "
Numb e r Model Accuracy Weight kgs Pride
709600 WX-MT.3C 28| 55|86 | 60| - 169| 0.005 | 60° 1.8kgs

709602 WX-MT.4C 30| 62 108 | 80| - 196| 0.005 | 60° 2.4kgs @

709604 WX-MT.5C 34| 71 136 | 120| - 266 | 0.005 | 60° 5.0kgs

M34



®)
M ZG

LIVE HEDTER

BULL NOSE CENTER

order A B c D D1 L co 0 GW ,
Numb e Model Accuracy Weight kgs Pri ce
709700 | SX 63-MT.2 46 17 69 60 12 132 0.005 60° 0.9kgs
709702 | SX 63-MT.3 46 17 86 60 12 149 0.005 60° 1.0kgs
709704 | SX 78-MT.3 52 18 86 80 15 156 0.005 70° 1.3kgs
709706 | SX 106-MT.3 59 16 86 100 25 161 0.008 70° 2.7kgs
709708 | SX 63-MT.4 46 17 108 60 12 171 0.005 60° 1.0kgs
709710 | SX78-MT.4 52 18 108 80 15 178 0.005 70° 1.45kgs
709712 | SX 106-MT.4 59 16 108 100 25 183 0.008 70° 3.0kgs
709714 | SX 128-MT.4 73 12 108 130 40 193 0.008 70° 4.8kgs
709716 | SX 156-MT.4 88 12 108 150 45 208 0.010 70° 7.6kgs
709718 | SX 206-MT.4 98 12 108 200 81 218 0.010 70° 17kgs
709720 | SX 258-MT.4 | 107 13 108 250 92 228 0.015 80° 27kgs
709722 | SX 128-MT.5 73 12 136 130 40 221 0.008 70° 5.8kgs
709724 | SX 156-MT.5 88 12 136 150 45 236 0.010 70° 8.5kgs
709726 | SX 206-MT.5 98 12 136 200 81 246 0.015 70° 18kgs
709728 | SX258-MT.5 | 107 13 136 250 92 256 0.015 80° 28kgs
709730 | SX 306-MT.5 | 107 30 136 300 120 273 0.020 90° 37.5kgs
709732 | SX 206-MT.6 98 12 190 200 81 300 0.010 70° 20.6kgs
709734 | SX 258-MT.6 107 13 190 250 92 310 0.015 80° 30.6kgs
709736 | SX 306-MT.6 107 30 190 300 120 327 0.020 90° 40kgs

. M35



| Lathe allstock e@ter

DEAD ENTER

CARBIDE HALF-NOTCHED CENTER

NOurn:ibee r Model & Specification Taper do b1 L1 Price
709800 D142 MT.2 17.780 36 100 100
709802 D143 MT.3 23.825 44 125 125
709804 D144 MT.4 31.267 58 160 160
709806 D145 MT.5 44.399 70 200 200
DEAD CENTER 709808 D146 MT.6 63.348 98 280 280
MT.NO.
) Model & Specification
-"1.; -'f Nourr: bee r Taper e D1 L Price
O T Ordinary Class Accurate Class
| u_ 709810 D1l 4 D1l 4 10 33 33
./‘1’ 709812 D11¢g 6 D11¢g 6 1:20 15 a7 a7
709814 D11 80 D11 80 80 119 315 315
= o 709816 D11¢ 100 D11¢ 100 100 128 360 360
- Lt —_— 709818 D110 D110 MT.0 9.045 20 70 70
709820 D111 D111 MT.1 12.065 26 80 80
709822 D112 D112 MT.2 17.780 36 100 100
709824 D113 D113 MT.3 23.825 44 125 125
709826 D114 D114 MT.4 31.267 58 160 160
709828 D115 D115 MT.5 44.399 70 200 200
CARBIDE DEAD CENTER 709830 D116 D116 MT.6 | 63.348 98 280 280
MT.NO.
| il
e orde do D1 L1 :
{- I T Nu mb elr Model & Specification Taper Price
ﬁl}’x | ul" [ﬂ 709840 D121 MT.1 12.065 26 80 80
i ; | } 709842 D122 MT.2 17.780 36 100 100
709844 D123 MT.3 23.825 44 125 125
709846 D124 MT.4 31.267 58 160 160
— L= 709848 D125 MT.5 44.399 70 200 200
I L4 709850 D126 MT.6 63.348 98 280 280
HALF-NOTCHED CENTER
Model & Specification
MT.NO. Orde do D1 L1
II|'— Numb¢r Taper Price
| / Ordinary Class Accurate Class
-{ I:Iiu 709852 D130 DM130 MT.0 9.045 20 70 70
60" :" e : = — 709854 D131 DM131 MT.1 12.065 26 80 80
’;k \ _d,.J- 709856 D132 DM132 MT.2 17.780 36 100 100
709858 D133 DM133 MT.3 23.825 44 125 125
fn ] — ] 709860 D134 DM134 MT.4 31.267 58 160 160
|—— = —il 709862 D135 DM135 MT.4 44.399 70 200 200
709864 D136 Dm136 MT.6 63.348 98 280 280

. M36



